American Journal of Humanities and Social Sciences Research (AJHSSR)

e-ISSN:2378-703X

Volume-07, Issue-08, pp-146-171

www.ajhssr.com

Research Paper

Open Access

Academic Stress in Relation to Academic Performance of High School Students in The New Normal Education

ISAGANI S. HERNANDEZ JR.

Rofulo M. Landa Memorial High School, Zambales, Philippines

ABSTRACT: This study aimed to determine the academic stress in relation to academic performance of high school students in the new normal education. The researcher utilized the descriptive research design withquestionnaire as the instrument in gathering data from the 392 students who were randomly selected.

Statistical analysis shows that the assessment on academic stress was "Moderately Stressful" and on well-being was "Sometimes". The academic performance the students was rated "Very Satisfactory". There is significant difference on sex towards academic undertaking and parental pressure while significant on age towards academic undertaking. There is significant difference according to learning modality on emotional, social, intellectual and spiritual well-being; significant on sex towards physical well-being and grade level towards intellectual well-being. There is negligible correlation between the level of academic stress and academic performance and positive slight correlation between the well-being and academic performance.

It is recommended that parents are encouraged not to force children to have good academic performance. Need to assessed and understand the intellectual ability of the children. Students are encouraged to participate in activities promoting health, social, and spiritual wellness and further study be conducted on the design of a curriculum which optimizes the balance between the 'push' factors bringing out the students, maintaining standards, etc.), and inducing undue and unproductive stress.

I. RATIONALE

A quality learning environment at home has been widely documented as critical for children's acquisition of foundational skills (e.g., Dowd et al., 2017). Recent evidence shows the importance of parental engagement in children's learning, and the striking disparities in home learning environments that persist within and across countries, hitting poorer learners the hardest (Brossard et al., 2020; UNICEF, 2020). With COVID-19 school closures, the importance of learning at home has been further amplified, increasing the role of parents and caregivers to support children's learning. Besides learning, vulnerable households have also had to take on added responsibilities for children's well-being, including for childcare services such as meals that were previously offered at school (Gromada, 2020).

The coronavirus pandemic is transforming the traditional schooling model. In particular, the growing integration of digital technologies raises further questions about the future of learning, teaching, curriculum, and assessment.

This calls for continuous monitoring of how education systems are transforming and responding to the scale and severity of the current learning crisis.

Stress is a subject which is hard to avoid. Everyone has had it or has it in one point in their high school life. The importance of tile students in the education process is unquestionable. This is because of all the human factors in the educational system, the students occupy the key position and it is only through them that the ultimate process of education takes place. The students today are facing with new challenges in education calling for greater effort from students. In addition, there are heavy demands made by society on students to perform various roles, many of which are undefined, inconsistent and unachievable in the present socio – cultural, economic and bureaucratic contexts of our society, causing heavy stress on students mainly high school students. Unfortunately stress is a common part of life as we begin in the new normal in times of COVID – 19 Pandemic, something few of us ca avoid altogether. Partly for this reason and partly for both physical health and psychological well- being, stress has become an important topic of research in psychology.

Stress exists from the change in an individual's thinking and their lifestyle nowadays in the new normal. Now, individuals have changed in their perceptions and the way they interpret this life. Students in their adolescent stage are the ones who are going through the transitional phase, which is an intermediate of childhood and adulthood. Stress is believed to be caused by the various problems that exist such as problems at school, financial problems, family problems and problems in their surroundings. Adolescents also experience

stress because they are sometimes trapped between making decisions which is to follow rules and orders or to be free and discover the world like they should. Adolescents in the previous days were trained for things that were suitable with their age so that they can use it to manage their lives. But now adolescents have to follow their parents' desires which are preparing them to compete in the social system where the society is scrambling towards modernization so that they are not left behind. If it is not managed well, stress can ignite psychological disturbances among them when they are grown up. These disturbances will cause stress to the adolescents in the future if they are not overcome.

The coronavirus pandemic is transforming the traditional schooling model. In particular, the growing integration of digital technologies raises further questions about the future of learning, teaching, curriculum, and assessment. This calls for continuous monitoring of how education systems are transforming and responding to the scale and severity of the current learning crisis.

II. OBJECTIVES

This study aimed to determine the academic stress in relation to academic performance of school students.

Specifically, this study sought to find answers to the following questions:

- 1. How is the academic stress conditions of the senior high school students be described in the following dimensions:
 - 1.1. Academic Undertaking;
 - 1.2. Parental Pressure; and
 - 1.3. Future Perspective?
- 2. How are the dimensions towards well-being of senior high school students be described as to:
 - 2.1. Physical Well Being;
 - 2.2. Emotional Well Being;
 - 2.3. Social Well Being;
 - 2.4. Intellectual Well-Being; and
 - 2.5. Spiritual Well Being?
- 3. How is the level of academic performance of senior high school students reflected in GWA be described?
- 4. Is there significant difference on the dimension towards well being?
- 5. Is there significant relationship between academic stress and academic performance?
- 6. Is there significant relationship between academic stress and well-being?

III. METHODOLOGY

A descriptive research design was used and with questionnaire as the instrument in gathering data from the 392 students who were randomly selected.

Questionnaire was consisted of different parts. (1). dealt with the assessment on the Academic conditions of the Senior High School students in terms of: (a) Academic Undertaking, (b) Parental Pressure, and (v) Future Perspective. (2) dealt with the perception towards student well-being in terms of (a) Physical Well-Being, (b) Emotional Well-Being, (c) Social Well-being, (d Intellectual Well-Being, and (e) Spiritual Well-Being respectively.(3) dealt with the level of academic performance reflected in the general weighted average in the first and second grading period.

Data gathered was used as subject to certain statistical treatments. Statistical tools was used to gathered data such as percentage, weighted arithmetic mean, ANOVA and Pearson r.

IV. RESULTS AND DISCUSSION

Table 1: Table on the Perception of the Senior High School Students on the Academic Stress

	Academic Stress	Overall Weighted Mean	Qualitative Interpretation	Rank	
1	Academic Undertaking	2.66	Moderately Stressful	2	
2	Parental Pressure	2.38	Slightly Stressful	3	
3	Future Perspective	2.77	Moderately Stressful	1	
	Grand Mean	2.60	Moderately Stressful		

The respondents assessed "Moderately Stressful" on future perspective (2.77) and ranked 1st; academic undertaking (2.66) and ranked 2nd. The parental pressure was assessed "Slightly Stressful with mean of (2.38) and ranked 3rd. Overall, the computed grand mean on the responses towards dimensions on academic stress was 2.60 and with qualitative interpretation of "Moderately Stressful".

Academic-related stress is significantly associated with reduced student academic motivation (Liu, 2015) and academic disengagement (Liu& Lu, 2011). This in turn makes them vulnerable to dropping out, future unemployment, and increased incidence of psychiatric disorders such as depression, anxiety and substance use disorders (Pascoe et al., 2020). Long-standing stress exposure in children and adolescents may also lead to the development of physical health problems such as metabolic syndrome, obesity and reduced insulin sensitivity as well as reduction of life expectancy (Pervanidou & Chrousos, 2012).

Table 2 : of the Senior High School Students on the dimensions towards Well-Being

	Well-Being	Overall Weighted Mean	Qualitative Interpretation	Rank
1	Physical Well-Being	2.65	Sometimes	5
2	Emotional Well-Being	3.03	Sometimes	3
3	Social Well-Being	3.07	Sometimes	2
4	Intellectual Well-Being	3.02	Sometimes	4
5	Spiritual Well-Being	3.20	Sometimes	1
	Grand Mean	2.99	Sometimes	

The respondents assessed "Sometimes" on all dimensions as to Spiritual Well-Being (3.20) and ranked 1st; Social Well-being (3.07) and ranked 2nd; Emotional Well-Being (3.03) and ranked 3rd; Intellectual Well-being (3.02) and ranked 4th while Physical well-being (2.65) and ranked 5th. Overall, the computed grand mean on the responses towards dimensions on well-being was 2.29 with qualitative interpretation of "Sometimes".

Table 3 : Level of Academic Performance of the Senior High Students reflected in General Weighted
Average grade during First and Second Grading Period

	First (Grading	Second	Grading
Descriptive Equivalent	Frequency (f)	Percentage (%)	Frequency (f)	Percentage (%)
Outstanding (90-100)	141	36.00	183	46.70
Very Satisfactory (85-89)	155	39.50	137	34.90
Satisfactory (80-84)	90	23.00	65	16.60
Fairly Satisfactory (75-79)	6	1.50	7	1.80
Did Not Meet Expectations (74 and below)	0	0.00	0	0.00
Total	392	100.00	392	100.00
Mean	88.58	Very Satisfactory	89.73	Very Satisfactory
Overall Weighted Mean	89.16 (Very Satisfactory)			

In the first grading and second period, the students were rated "Very Satisfactory" equivalent to the numerical grade of 88.58 and 87.93 respectively. The overall weighted mean on the academic performance of the respondents was 89.16 with qualitative interpretation of "Very Satisfactory".

The very satisfactory performance demonstrate that the student-respondents are doing well in the academic undertaking. It further demonstrate that they are not quite affected by academic stress nor academic anxiety.

Academic anxiety is found to be the least in case of adolescents from high socio- economic classes-which may be partly attributed to their secured future at least in material aspects. The prevalence of anxiety disorders tends to decrease with higher socio-economic status (Sadock et.al 2000). Another study has also reported that social disadvantage is associated with increased stress among students (Goodman et. al, 2005).

Table 4 : Analysis of Variance to test difference on the Academic Stress as to Academic Undertaking when the Student-respondents are grouped according

to profile variables

to prome variables										
Sources of	Variations	SS	df	MS	F	Sig.	Decision			
	Between Groups	3.948	5	0.790	2.644	0.023	Daigat IIa			
Age	Within Groups	115.254	386	0.299			Reject Ho Significant			
	Total	119.201	391				Significant			
	Between Groups	0.693	1	0.693	2.279	0.132	Agant Ho			
Sex	Within Groups	118.509	390	0.304			Accept Ho Not Significant			
	Total	119.201	391				Not Significant			
	Between Groups	0.303	1	0.303	0.995	0.319	Agant Uo			
Grade Level	Within Groups	118.898	390	0.305			Accept Ho Not Significant			
	Total	119.201	391							
Mother's	Between Groups	1.198	5	0.240	0.784	0.562	Accept Ho			
Education	Within Groups	118.003	386	0.306			Not Significant			
Education	Total	119.201	391							
	Between Groups	0.394	5	0.079	0.256	0.937	Accept Ho			
Father's Education	Within Groups	118.807	386	0.308			Not Significant			
	Total	119.201	391							
	Between Groups	1.430	8	0.179	0.581	0.793	Accept Ho			
Family Income	Within Groups	117.771	383	0.307			Not Significant			
	Total	119.201	391							
T ' M 1 1'	Between Groups	0.399	2	0.200	0.654	0.521	Accept Ho			
Learning Modality preference	Within Groups	118.802	389	0.305			Not Significant			
	Total	119.201	391							

Table 4 shows the Analysis of Variance to test difference on the Academic Stress as to Academic Undertaking when the Student-respondents are grouped according to profile variables.

There is significant difference on the perception towards academic undertaking when grouped according to age manifested on the Sig. value of 0.023 which is lower than 5% significance level, therefore the null hypothesis is rejected. On the other hand, there is no significant difference on the perception towards academic undertaking when grouped according to sex, grade level, mothers' education, fathers' education, family income and learning modality preference manifested on the Sig. values of 0.132, 0.319, 0.562, 0.937, 0.793 and 0.521 respectively which are lower than 5% significance level, therefore the null hypothesis is accepted.

determine where the difference lies. It shows that respondents ages 20 years old with highest mean value comparted to 19 years old.

This finding support of the study of Reddy et al. (2018) as they concludes that stream wise difference in stress does exist in students. It is important to deal with stress at personal, social and institutional level. Remedies such as feedback, yoga, life skills training, mindfulness, meditation and psychotherapy have been found useful to deal with stress. To identify the main reason of stress is the key to deal with it. Professionals can develop tailor made strategies to deal with stress. The integrated wellbeing of the students is important not only for the individual but for the institute as well. Dimitrov, (2017) claimed that stress can be addressed by ensuring that the students give utmost importance to their welfare. Food, exercise, work, recreation are some of the areas to focus on. He also concluded that the education system is more to do with the academic qualifications and does not contribute enough to the holistic development of students.

In similar manner, the study of Subramani and Kadhiravan, (2017) revealed the link between academic stress and mental health among students. He endorsed that academic stress and mental health are correlated and that students are cramped with the academic structure. Parents and schools pressurize the student's way too much for the higher grades that disheartens the students, further to add on there is not enough support from the parents and school in terms of guidance. The students are mentally healthy when they perform constructively in the academic forums. They also propounded that students from private schools are more pressurized as compared to students from government schools due to the excess of homework and other academic related

assignments. Significant difference in mental health of students from private and government schools was found. He asserted that students from private schools have a different nurturing and vast exposure as compared to government school students who belong to poor socio economic background and lack of exposure. This is one of the reasons for the escalation of stress.

Table 5 : Analysis of Variance to test difference on the Academic Stress as to Parental Pressure when the student-respondents are grouped according to profile variables

	student respondents are grouped according to promi								
Sources of V	Variations	SS	df	MS	F	Sig.	Decision		
	Between Groups	1.306	5	0.261	0.510	0.769	A agamt II a		
Age	Within Groups	197.683	386	0.512			Accept Ho Not Significant		
	Total	198.988	391				Not Significant		
	Between Groups	2.883	1	2.883	5.733	0.017	D - 2 4 II -		
Sex	Within Groups	196.106	390	0.503			Reject Ho		
	Total	198.988	391				Significant		
	Between Groups	0.029	1	0.029	0.057	0.812	A agamt II.a		
Grade Level	Within Groups	198.960	390	0.510			Accept Ho Not Significant		
	Total	198.988	391				Not Significant		
	Between Groups	1.409	5	0.282	0.551	0.738	Accept Ho		
Mother's Education	Within Groups	197.579	386	0.512			Not Significant		
	Total	198.988	391						
	Between Groups	1.643	5	0.329	0.643	0.667	Accept Ho		
Father's Education	Within Groups	197.345	386	0.511			Not Significant		
	Total	198.988	391						
	Between Groups	1.741	8	0.218	0.423	0.907	Accept Ho		
Family Income	Within Groups	197.247	383	0.515			Not Significant		
	Total	198.988	391						
7 . 36 111	Between Groups	1.444	2	0.722	1.422	0.243	Accept Ho		
Learning Modality Preference	Within Groups	197.545	389	0.508			Not Significant		
Ficielelice	Total	198.988	391						

There is significant difference on the perception towards parental pressure when grouped according to sex manifested on the Sig. value of 0.017 which is lower than 5% significance level, therefore the null hypothesis is rejected. On the other hand, there is no significant difference on the perception towards parental pressure when grouped according to age, grade level, mothers' education, fathers' education, family income and learning modality preference manifested on the Sig. values of 0.769, 0.812, 0.738, 0.667, 0.907, and 0.243 respectively which are lower than 5% significance level, therefore the null hypothesis is accepted.

The data simply implies on the divergence of opinion when grouped according to sex. In Appendix E, Figure 4 shows the Post-Hoc using Scheffe Test and means plot to determine where the difference lies. It shows that the difference lies on male respondents with high mean values compared to females. Possible explanations for female students experiencing higher stress levels could include women taking on the role of being the caretaker of the family (Stevenson & Harper, 2006). Moreover, the high family income had a moderate level of academic stress. Meaning to say, they have a greater chance to expose themselves to varied activities and experiences inside and outside the school campus. Lastly, students of parents, whose educational level is elementary, demonstrated a moderate level of stress. This is congruence to Graetz's (2009) study that children from parents with low occupational status face many barriers in transiting from one stage of education to the next.

Though parental involvement leads to better academic achievement (Holmes, 2013), high expectations of the parents lead to stress of stress of students (Ma, Siu & Tse, 2018). Parents usually set unrealistically high goals, it sometimes leads to drastic outbursts by students in the form of stress, depression and even suicides (Hazari, 2013).

Parents have crucial role in their children's development (Sroufe, 2002; Harter, 2006) and they have numerous wishes and expectations for their children particularly about their education (Goldenberg et al., 2001; Glick & White 2004). Children realize the parental expectations and attempt to satisfy their expectations. But sometimes parents' expectations induce worry in their child and it impacts the academic achievement. When they could not achieve their parents' expectations, it causes stress and influences on their academic achievement (Kumar& Jadaun, 2018). Hence, it is assumed that there would be a significant relationship between parental expectations and academic stress among school students and is tested with correlation analysis.

In the study of Chui and Wong, (2017) concluded that there was no difference between gender regarding perceived parental expectations. (Dhull and Kumari ,2015) indicated significant gender differences with reference to dimensions of academic stress (pressure from study, workload, worry about grades and despondency).

Parental pressure for better academic performance was found to be mostly responsible for academic stress, as reported by 66% of the students. The majority of the parents criticized their children by comparing the latter's performance with that of the best performer in the class. As a result, instead of friendship, there develops a sense of rivalry among classmates. Some parents even tend to demean the achievement of the top scorer of the class by stating that, he/she might have been favored by the teacher (Pandey, 2010).

Table 6: Analysis of Variance to test difference on the Academic Stress as to Future Perspective when the student-respondents are grouped according to profile variables

student-respondents are grouped according to profile variables										
Sources o	f Variations	SS	df	MS	\mathbf{F}	Sig.	Decision			
	Between Groups	1.368	5	0.274	0.516	0.764	A acomt III o			
Age	Within Groups	204.820	386	0.531			Accept Ho Not Significant			
	Total	206.188	391				Not Significant			
	Between Groups	0.861	1	0.861	1.635	0.202	A II			
Sex	Within Groups	205.328	390	0.526			Accept Ho Not Significant			
	Total	206.188	391				Not Significant			
	Between Groups	1.881	1	1.881	3.591	0.059	A TT -			
Grade Level	Within Groups	204.307	390	0.524			Accept Ho Not Significant			
	Total	206.188	391				Not Significant			
M 41 2	Between Groups	0.467	5	0.093	0.175	0.972	Accept Ho			
Mother's Education	Within Groups	205.721	386	0.533			Not Significant			
Education	Total	206.188	391							
E-412-	Between Groups	1.465	5	0.293	0.553	0.736	Accept Ho			
Father's Education	Within Groups	204.723	386	0.530			Not Significant			
Education	Total	206.188	391							
	Between Groups	3.641	8	0.455	0.861	0.550	Accept Ho			
Family Income	Within Groups	202.548	383	0.529			Not Significant			
	Total	206.188	391							
Learning	Between Groups	0.911	2	0.455	0.863	0.423	Accept Ho			
Modality	Within Groups	205.278	389	0.528			Not Significant			
Preference	Total	206.188	391							

There is no significant difference on the perception towards future perspective when grouped according to age, sex, grade level, mothers' education, fathers' education, family income and learning modality preference manifested on the Sig. values of 0.764, 0.202, 0.059, 0.972, 0.736, 0.550 and 0.423 respectively which all are higher than 5% significance level, therefore the null hypothesis is accepted.

Regarding stress, Folkman (2013) emphasizes that this phenomenon is contextual and involves a transaction between the characteristics of the person and the environment; it is liable to change over time, perhaps as a result of the individual's evaluation of a personally meaningful situation. Kristensen, Schaefer, and Busnello (2010) argue that stress develops when the demands of certain situations are perceived as being beyond the resources available to overcome them, causing the individual to be unable to resist and create strategies to address them.

Thus, stress can interfere with this population's development, given the psychological vulnerability that is inherent to this period of life. In addition to causing an impact on adolescents' health and wellness (Marques, Gasparotto, & Coelho, 2015), stress can affect their future expectations and hope (Gustafsson et. al., 2013).

There is a direct relationship between hope and future expectations; hope is used to envision future goals and to propose effective actions to achieve the goals that are established in the present, playing an important role in positive development (Callina et. al.,2014). Adolescents plan for the future using concepts and experiences from the present, and therefore, they need hopeful thoughts to try to accomplish these plans, encouraging their positive development (Burrow, O'Dell, & Hill, 2010).

Table 7: Analysis of Variance to test difference on the dimensions towards Physical Well-Being when the student-respondents are grouped according to profile variables

	student-responden				1		
Sources	of Variations	SS	df	MS	F	Sig.	Decision
	Between Groups	1.877	5	0.375	1.432	0.212	Agant Ho
0	Within Groups	101.163	386	0.262			Accept Ho Not Significant
	Total	103.040	391				Not Significant
	Between Groups	6.430	1	6.430	25.956	0.000	Datast Ha
Sex	Within Groups	96.610	390	0.248			Reject Ho
	Total	103.040	391				Significant
	Between Groups	0.239	1	0.239	0.907	0.341	A agamt II a
Grade Level	Within Groups	102.801	390	0.264			Accept Ho Not Significant
	Total	103.040	391				
M - 41? -	Between Groups	0.997	5	0.199	0.754	0.583	Accept Ho
Mother's Education	Within Groups	102.043	386	0.264			Not Significant
Education	Total	103.040	391				
Father's	Between Groups	1.911	5	0.382	1.459	0.202	Accept Ho
Education	Within Groups	101.129	386	0.262			Not Significant
Education	Total	103.040	391				
	Between Groups	2.899	8	0.362	1.386	0.201	Accept Ho
Family Income	Within Groups	100.141	383	0.261			Not Significant
	Total	103.040	391				
Learning	Between Groups	0.624	2	0.312	1.185	0.307	Accept Ho
Modality	Within Groups	102.416	389	0.263			Not Significant
preference	Total	103.040	391				

Table 7 shows the Analysis of Variance to test difference on Physical well-being when grouped according to age, sex, grade level, mother's education, father's education and family income and learning modality preference.

There is significant difference on the perception towards physical well-being when grouped according to sex manifested on the Sig. value of 0.000 which is lower than 5% significance level, therefore the null hypothesis is rejected.

There is no significant difference on the perception towards physical well-being when grouped according to age, grade level, mothers' education, fathers' education, family income and learning modality preference manifested on the Sig. values of 0.212, 0.341, 0.583, 0.202, 0.201 and 0.307 respectively which all are higher than 5% significance level, therefore the null hypothesis is accepted.

The data simply implies on the divergence of opinion when grouped according to sex. In Appendix E, Figure 5 shows the Post-Hoc using Scheffe Test and means plot to determine where the difference lies. It shows that the difference lies on male respondents.

The physical well-being domain and its measures include the areas of: nutrition, preventative health care, physical activity, physical safety and security, reproductive health and drug use (Bornstein et al., 2003; Pollard & Davidson, 2001). One unequivocal constant across the physical well-being literature is that school programs that support physical well-being lead to positive health outcomes (Blanksby & Whipp, 2004; Bornstein et al., 2003). Schools are generally well informed regarding appropriate health behaviors through both curriculum documents in the Health and Physical Education fields and supplementary programs available to schools to support and nurture student physical well-being. The contribution of measures of physical well-being to a measurement construct of student well-being are however questionable.

Table 8: Analysis of Variance to test difference on the dimensions towards Emotional Well-Being when the student-respondents are grouped according to profile variables

Source	es of Variations	SS	df	MS	F	Sig.	Decision
	Between Groups	1.905	5	0.381	1.586	0.163	A agent II.a
Age	Within Groups	92.724	386	0.240			Accept Ho Not Significant
	Total	94.629	391				Not Significant
	Between Groups	0.443	1	0.443	1.836	0.176	A II-
Sex	Within Groups	94.185	390	0.242			Accept Ho Not Significant
	Total	94.629	391				Not Significant
Grade Level	Between Groups	0.286	1	0.286	1.183	0.277	Accept Ho

	Within Groups	94.343	390	0.242			Not Significant
	Total	94.629	391				
Mother's	Between Groups	0.369	5	0.074	0.303	0.911	Accept Ho
Education	Within Groups	94.260	386	0.244			Not Significant
Education	Total	94.629	391				
Father's	Between Groups	0.367	5	0.073	0.300	0.913	Accept Ho
Education	Within Groups	94.262	386	0.244			Not Significant
Education	Total	94.629	391				
	Between Groups	1.448	8	0.181	0.744	0.653	Accept Ho
Family Income	Within Groups	93.181	383	0.243			Not Significant
	Total	94.629	391				
Learning	Between Groups	2.631	2	1.316	5.563	0.004	
Modality	Within Groups	91.998	389	0.236			Reject Ho
preference	Total	94.629	391				Significant

Table 18 shows the Analysis of Variance to test difference on Emotional well-being when grouped according to age, sex, grade level, mother's education, father's education and family income and learning modality preference.

value of 0.004 which is lower than 5% significance level, therefore the null hypothesis is rejected.

There is no significant difference on the perception towards emotional well-being when grouped according to age, grade level, mothers' education, fathers' education, and family income manifested on the Sig. values of 0.163, 0.176, 0.277, 0.911, 0.913, and 0.653 respectively which all are higher than 5% significance level, therefore the null hypothesis is accepted.

The data simply implies on the divergence of opinion when grouped according to learning modality preference. In Appendix E, Figure 6 shows the Post-Hoc using Scheffe Test and means plot to determine where the difference lies. It shows that the difference lies on respondents using blended learning manifested on the high mean values compared to those using online learning. Psychological well-being is the most pervasive construct in the well-being literature and consistently is referred to as one of the primary outcome measures of well-being.

The aspects of intrapersonal well-being are also reported extensively as being under meaningful influence of the school (Bond, 2000; Carr-Gregg, 2000b; Wyn et al., 2000). This report includes intrapersonal well-being as a dimension of a measurement construct of student well-being in the school community.

Table 9: Analysis of Variance to test difference on the dimensions towards Social Well-Being when the student-respondents are grouped according to profile variables

Sources of	Sources of Variations		df	MS	F	Sig.	Decision
	Between Groups	1.642	5	0.328	1.147	0.335	Aggent Ug
Age	Within Groups	110.530	386	0.286			Accept Ho Not Significant
	Total	112.171	391				Not Significant
	Between Groups	0.044	1	0.044	0.154	0.695	A acomt II a
Sex	Within Groups	112.127	390	0.288			Accept Ho Not Significant
	Total	112.171	391				
	Between Groups	0.594	1	0.594	2.075	0.151	A acomt II a
Grade Level	Within Groups	111.578	390	0.286			Accept Ho Not Significant
	Total	112.171	391				
	Between Groups	0.394	5	0.079	0.272	0.928	Accept Ho
Mother's Education	Within Groups	111.778	386	0.290			Not Significant
	Total	112.171	391				
	Between Groups	0.666	5	0.133	0.461	0.805	Accept Ho
Father's Education	Within Groups	111.506	386	0.289			Not Significant
	Total	112.171	391				
	Between Groups	2.499	8	0.312	1.091	0.369	Accept Ho
Family Income	Within Groups	109.672	383	0.286			Not Significant
	Total	112.171	391				
	Between Groups	2.417	2	1.208	4.283	0.014	Reject Ho Significant
Learning Modality preference	Within Groups	109.755	389	0.282			
preference	Total	112.171	391				Significant

Table 9 shows the Analysis of Variance to test difference on Social well-being when grouped according to age, sex, grade level, mother's education, father's education and family income and learning modality preference.

There is significant difference on the perception towards social well-being when grouped according to learning modality preference manifested on the Sig. value of 0.014 which is lower than 5% significance level, therefore the null hypothesis is rejected.

There is no significant difference on the perception towards social well-being when grouped according to age, grade level, mothers' education, fathers' education, and family income manifested on the Sig. values of 0.335, 0.695, 0.151, 0.928, 0.805 and 0.369 respectively which all are higher than 5% significance level, therefore the null hypothesis is accepted.

The data simply implies on the divergence of opinion when grouped according to learning modality preference. In Appendix E, Figure 7 shows the Post-Hoc using Scheffe Test and means plot to determine where the difference lies. It shows that the difference lies on the respondents using blended learning manifested on the high mean values compared to those using online learning.

Social well-being has been afforded status as both a dimension of a larger well-being construct and as part of a broader social-emotional well-being dimension (Bornstein et al., 2003). Typically the social, or interpersonal well-being domain includes aspects such as: empathy, trust, peer relationships and mutual obligation (Bornstein et al., 2003). The aggregation of social and emotional well-being to form a single dimension in some well-being models is predicated on the understanding that emotional well-being is frequently manifest as observable social behaviors. This provides an elegant solution in the management of constructs in which well-being is defined broadly to encompass a range of situational contexts.

Table 10: Analysis of Variance to test difference on the dimensions towards Intellectual Well-Being when the student-respondents are grouped according to profile variables

the student-respondents are grouped according to profile variables									
Sources	of Variations	SS	df	MS	F	Sig.	Decision		
	Between Groups	2.356	5	0.471	1.723	0.128	A agant Ho		
Age	Within Groups	105.559	386	0.273			Accept Ho Not Significant		
	Total	107.914	391				Not Significant		
	Between Groups	0.301	1	0.301	1.091	0.297	A		
Sex	Within Groups	107.613	390	0.276			Accept Ho Not Significant		
	Total	107.914	391				Not Significant		
	Between Groups	1.140	1	1.140	4.162	0.042	Defect He		
Grade Level	Within Groups	106.775	390	0.274			Reject Ho Significant		
	Total	107.914	391						
M - 41 ? -	Between Groups	0.901	5	0.180	0.650	0.662	Accept Ho		
Mother's Education	Within Groups	107.013	386	0.277			Not Significant		
Education	Total	107.914	391						
Father's	Between Groups	2.416	5	0.483	1.768	0.118	Accept Ho		
Education	Within Groups	105.498	386	0.273			Not Significant		
Education	Total	107.914	391						
	Between Groups	4.069	8	0.509	1.876	0.062	Accept Ho		
Family Income	Within Groups	103.846	383	0.271			Not Significant		
	Total	107.914	391						
Learning	Between Groups	2.117	2	1.059	3.892	0.021	Reject Ho Significant		
Modality	Within Groups	105.797	389	0.272		·			
preference	Total	107.914	391						

Table 10 shows the Analysis of Variance to test difference on Intellectual well-being when grouped according to age, sex, grade level, mother's education, father's education and family income and learning modality preference.

There is significant difference on the perception towards intellectual well-being when grouped according to grade level and learning modality preference manifested on the Sig. values of 0.042 and 0.021 respectively which is lower than 5% significance level, therefore the null hypothesis is rejected.

There is no significant difference on the perception towards intellectual well-being when grouped according to age, mothers' education, fathers' education, and family income manifested on the Sig. values of 0.0.128, 0.297, 0.662, 0.118 and 0.062 respectively which all are higher than 5% significance level, therefore the null hypothesis is accepted.

The data simply implies on the divergence of opinion when grouped according to grade level and learning modality preference respectively. In Appendix E, Figure 8 and 9 show the Post-Hoc using Scheffe Test and means plot to determine where the difference lies. It shows that the difference lies on respondents in Grade 12 and using blended learning manifested on their high mean values.

It is universally accepted that schools exert significant influence over the cognitive wellbeing of their students. This is after all, arguably the primary purpose of schools and the focus of the greatest proportion of their allocated resources. It is also true that schools and school systems already have available to them an overwhelming array of assessment methodologies and materials of the academic achievements of their students. Less prevalent are measures of the cognitive dispositions. However, the dispositional aspects of the cognitive dimension of child well-being articulated by Pollard and Lee (2003) are not sufficiently discrete from a broader intrapersonal dimension of student well-being in the school context to warrant their classification as part of a distinct well-being dimension. Dispositions to cognitive achievement are therefore included in this report as aspects of a broader intrapersonal dimension of a measurement construct of student well-being in the school community.

Table 11 :Analysis of Variance to test difference on the dimensions towards Spiritual Well-Being when the Student-respondents are grouped according to profile variables

	e stadent responde.	0		0	_			
Sources	of Variations	SS	df	MS	F	Sig.	Decision	
	Between Groups	1.871	5	0.374	1.151	0.333	Agant Ho	
Age	Within Groups	125.548	386	0.325			Accept Ho Not Significant	
	Total	127.419	391				Not Significant	
	Between Groups	0.269	1	0.269	0.824	0.365	A agamt IIIa	
Sex	Within Groups	127.151	390	0.326			Accept Ho	
	Total	127.419	391				Not Significant	
	Between Groups	0.619	1	0.619	1.903	0.168	A	
Grade Level	Within Groups	126.800	390	0.325			Accept Ho Not Significant	
	Total	127.419	391					
M - 41 ? -	Between Groups	0.674	5	0.135	0.411	0.841	Accept Ho	
Mother's Education	Within Groups	126.745	386	0.328			Not Significant	
Education	Total	127.419	391					
E-412-	Between Groups	2.040	5	0.408	1.256	0.282	Accept Ho	
Father's	Within Groups	125.379	386	0.325			Not Significant	
Education	Total	127.419	391					
	Between Groups	1.194	8	0.149	0.453	0.889	Accept Ho	
Family Income	Within Groups	126.225	383	0.330			Not Significant	
	Total	127.419	391					
Learning	Between Groups	2.351	2	1.176	3.656	0.027		
Modality	Within Groups	125.068	389	0.322			Reject Ho	
	Total	127.419	391				Significant	

Table 11 shows the Analysis of Variance to test difference on Spiritual well-being when grouped according to age, sex, grade level, mother's education, father's education and family income and learning modality preference.

There is significant difference on the perception towards spiritual well-being when grouped according to learning modality preference manifested on the Sig. value of 0.027 which is lower than 5% significance level, therefore the null hypothesis is rejected.

On the other hand, there is no significant difference on the perception towards spiritual well-being when grouped according to age, grade level, mothers' education,

fathers' education, and family income manifested on the Sig. values of 0.333, 0.365, 0.168, 0.841, 0.282, and 0.889 respectively which all are higher than 5% significance level, therefore the null hypothesis is accepted.

The data simply implies on the divergence of opinion when grouped according to learning modality preference. In Appendix E, Figure 10 shows the Post-Hoc using Scheffe Test and means plot to determine where the difference lies. It shows that the difference lies on respondents using blended learning manifested on the high mean values compared to those using the online learning.

Spiritual well – being is defined as a positive sense of meaning and purpose in life (Adams & Benzer, 2000; Tsang & McCullough, 2003) and is an essential component of many models of well-being (Adams & Benzer, 2000). Spirituality is distinct from but can include religiosity. The distinction between spirituality and

religiosity is determined by the role of the sacred. Religiosity includes the requirement that a person is involved in the active search for and maintenance of faith in a notional divine entity or object (Hill, Pargament, Hood, McCullough, & Swyers, 2000). This is subsumed by the more general construct of spirituality as a sense of meaning or purpose.

Table 12: Pearson Product Moment Coefficient of Correlation to test relationship between Academic
Stress and Academic Performance

Sources of (Correlations	Academic Stress	Academic Performance
	Pearson Correlation	1	0.037
Academic Stress	Sig. (2-tailed)		0.459
	N	392	392
Academic Performance	Pearson Correlation	0.037	1
	Sig. (2-tailed)	0.459	
	N	392	392

The computed Pearson r value of 0.037 denotes negligible correlation between dimensions on Academic Stress and level of Academic Performance. The computed Sig. (2-tailed) test value of 0.459 which is greater than 5% significant level, therefore the null hypothesis is accepted, hence there is no significant relationship between the academic stress and the level of academic performance.

The impact of academic stress is also far-reaching: high levels of academic stress have led to poor outcomes in the areas of exercise, nutrition, substance use, and self-care. Concerning academic stress, there is much stress linked to studies, homework, tests, and other academic engagements (Porwal & Kumar, 2014). Relatively, it is a product of a broad range of concerns, including burden from tests and examinations burden, courses demanding submissions, and different educational systems, and thinking about plans upon education (Ramli, 2018). One out of every ten students suffers significant distress related to studies. In India, 72% of students are unaware of how to deal with academic stress and its ill-effects (Kumar, 2013).

Study of academic stress along gender lines is notable because, there is great difference in the academic stress of female and male students and studies revealed that female students were found to be under more academic stress than male students (Gentry et al., 2007). Academic stress is caused due to the examination system, burden of homework and attitudes of parents and teachers (Sarita, 2015). Even some parents intend to compensate through their children (Dhull & Kumari, 2015). In Indian culture, parents have more expectations for their male child because of societal perspective that male should success in education well enough so that he can look after the parents and family in future (Rajkotwala, 2016; Krishnan, 2018).

Table 13 : Pearson Product Moment Coefficient of Correlation to test relationship between Academic Stress and Academic Performance

Sources of (Correlations	Academic Stress	Academic Performance
	Pearson Correlation	1	0.173**
Well-Being	Sig. (2-tailed)		0.001
	N	392	392
Academic Performance	Pearson Correlation	0.173**	1
	Sig. (2-tailed)	0.001	
	N	392	392

^{**.} Correlation is significant at the 0.01 level (2-tailed).

Table 23 shows the Pearson Product Moment Coefficient of Correlation to test relationship between Well-Being and level of Academic Performance

The computed Pearson r value of 0.173** denotes positive slight correlation between dimensions on Academic Stress and level of Academic Performance. The computed Sig. (2-tailed) test value of 0.001 which is less than 1% significant level, therefore the null hypothesis is rejected, hence there is significant relationship between the well- being and the level of academic performance.

The data clearly demonstrate that as the academic stress is increasing, the academic performance is also slightly increasing. This finding supports on the study of Deb et al. (2014), were found to have high academic stress and 37 percent were found to have high anxiety levels.

Pollard and Lee (2003) comment that 'wellbeing is a complex, multi-faceted construct that has continued to elude researchers attempts to define and measure it' and according to Lent (2004), despite the multitude of purported measurement instruments 'there has been relatively little consensus on how best to measure well-being'. An audit of existing models of well-being reveals that there is significant variation in the magnitude and scope of the dimensions (also referred to as domains) ascribed to well-being.

Well-being is a multidimensional phenomenon, integrating biological, psychological, social, and spiritual dimensions (McDowell, 2010). Well-being refers to the emotional and cognitive dimensions of the subjective experience resulting from the individual evaluation of several dimensions of life.

Personality is a significant predictor of mental health (<u>Davydov et al., 2010</u>), including positive mental health/wellbeing (<u>Cloninger and Zohar, 2011</u>; <u>Josefsson et al., 2011</u>; <u>Butkovic et al., 2012</u>). Healthy personality development is related to several aspects of well-being and there is a need for integrating the contributions of personality to well-being on current approaches to mental health (<u>Seligman, 2008</u>; <u>Cloninger, 2012</u>; <u>Vaillant, 2012</u>).

V. CONCLUSIONS

Based on the summary of the investigations conducted, the researcher concluded that:

- 1. The assessment on academic stress was "Moderately Stressful".
- 2. The assessment on well-being was "Sometimes"
- 3. The academic performance the students was rated "Very Satisfactory".
- 4. There is significant different on sex towards academic undertaking and parental pressure while significant on age towards academic undertaking.
- 5. There is significant difference when grouped according to learning modality on emotional, social, intellectual and spiritual well-being; significant on sex towards physical well-being and grade level towards intellectual well-being
- 6. There is negligible correlation between the level of academic stress and academic performance.
- 7. There is positive slight correlation between the well-being and academic performance.

RECOMMENDATIONS

Based on the summary of the investigations conducted and the conclusions arrived at, the researcher offer the following recommendations based on salient findings obtained in the study.

- 1. Parents are encouraged not to force children to have good academic performance. Need to assessed and understand the intellectual ability of the children.
- 2. Parents should encourage their children to participate in exercise and physical activities. Join in to model fitness.
- 3. Parents should help their children to learn healthful eating.
- 4. Encouraged students to conduct self-assessment in readiness to handle or carry normal academic loads.
- 5. Students are advised to have self- discipline on sleeping habit meeting the 8 hours a day and conduct physical activity to enhance physical well-being.
- 6. Inclusions and integration of lessons on the importance of racial respect, gender sensitivity and cultural divergence.
- 7. Attendance to church services, worship and mass in order to enhance spiritual well-being.
- 8. Parents and teachers should provide activities for the students which will help them to enjoy their free time, including exercise, and allow them to engage themselves in productive ways that can reduce the stress.
- 9. School staffs, teachers and counselors should develop ways to improve effective communication between students and teachers, thereby improving academic and well being of students. Their understanding of students' academic stress will help them to practice techniques and adopt attitudes essential to assist and mentor them to cope/deal with academic stress more effectively.
- 10. Further, study should be conducted on the design of a curriculum which optimizes the balance between the 'push' factors (bringing out the students, maintaining standards, etc.) and inducing undue and unproductive stress.
- 11. For future researcher/s, to conduct a parallel or similar study with in-depth and wider in scope so as to validate the salient findings obtained in the study.

REFERENCES

- [1] Abu-Raiya, H., Pargament, K. I., Krause, N., & Ironson, G. (2015). Robust links between religious/spiritual struggles, psychological distress, and well-being in a national sample of American adults. American Journal of Orthopsychiatry, 85(6), 565
- [2] Adams, T., Rabin, L., Da Silva, V., Katz, M., Fogel, J., & Lipton, R. (2016). Social support buffers the impact of depressive symptoms on life satisfaction in old age. *Clinical Gerontologist*, 39(2), 139–157. https://doi.org/10.1080/07317115.2015.1073823.
- [3] Adams, T. B., & Benzer, J. R. (2000). Conceptualisation and Measurement of the Spiritual and Psychological Dimensions of Wellness in a College Population. Journal of American College Health, 48(4), 165-174.
- [4] Adnan, M., & Anwar, K. (2020). Online learning amid the COVID-19 pandemic: Students' Perspectives. Journal of Pedagogical Sociology and Psychology, 2(1), 45–51. https://doi.org/10.33902/JPSP
- [5] Agolla, J.E. (2009). Occupational Stress among Police Officers, The case of Botswana Police service, Res. J. Bus. Manage, 2 (1), 25-35.
- [6] Aguas, J. J. S. (2019). Catholic education in the Philippines. Encyclopedia of Teacher Education, 1–7. https://doi. org/10.1007/978-981-13-1179-6_147-1
- [7] Ainly, M., and Ainly, J. (2011). Student engagement with science in early adolescence: the contribution of enjoyment to students' continuing interest in learning aboutscience. *Contemp. Educ. Psychol.* 36, 4–12.doi:10.1016/j.cedpsych.2010.08.00 .Google Scholar
- [8] Akande, J. A., Olowonirejuaro, A. O., & Okwara-Kalu, C. E. (2014). A study of level and sources of stress among secondary school students. IOSR Journal of Research & Method in Education, 4(5), 32-36.
- [9] Albrecht, N. (2014). Wellness. The International Journal of Health, Wellness, and Society, 4 (1), 21-36.
- [10] Alsulami, S., Al Omar, Z., Binnwejim, M. S., Alhamdan, F., Aldrees, A., Al-Bawardi, A., ... Alhabeeb, M. (2018). Perception of academic stress among health science preparatory program students in two Saudi universities. *Advances in Medical Education and Practice*, 9, 159–164. https://doi.org/10.2147/AMEP.S143151.
- [11] Austin, E.; Evans, P.; Goldwater, R.; Potter, V.(2005) A preliminary study of emotional intelligence, empathy and exam performance in first year medical students. Personal. Individ. Differ., 39, 1395-1405. [CrossRef]
- [12] Anderson, G.E., Jimerson, S.R., & Whipple, A. D., 2005, Student ratings of stressful experiences at home and school: Loss of a parent and grade retention as superlative stressors. Journal of Applied School Psychology, 21, 1-20.
- [13] Antaramian, S. P., Huebner, E. S., Hills, K. J., and Valois, R. F. (2010). A dual-factor model of mental health: toward a more comprehensive understanding of youth functioning. University of South Carolina. *Am. J. Orthopsychiatry*, 80, 462–472. doi: 10.1111/j.1939-0025.2010.01049.x | Google Scholar
- [14] Aristovnik, A., Keržič, D., Ravšelj, D., Tomaževič, N., & Umek, L. (2020). Impacts of the COVID-19 pandemic on life of higher education students: A global perspective. Sustainability, 12(20), 8438. https://doi.org/10.3390/su12208438
- [15] Aucejo, E. M., French, J., Ugalde Araya, M. P., & Zafar, B. (2020). The impact of COVID-19 on student experiences and expectations: Evidence from a survey. Journal of Public Economics, 191, 104271. https://pubmed.ncbi.nlm.nih.gov/32873994/
- [16] Avci, M.; Akliman, C. K. (2018) Gender differences in perception of body, expressions of body image and body image coping strategies among Turkish adolescents. Int.J.Curric.Instr.,10,30-44.
- [17] Badr, H.E.; Lakha, S. F.; Pennefather, P.(2019) Differences in physical activity, eating habits and risk of obesity among Kuwaiti adolescent boys and girls: A population- based study. Int. J. Adolesc Med. Health, 31, 20160138.[CrossRef] [PubMed]
- [18] Banusing, R. O., & Bual, J. M. (2021). Appraising the quality of diocesan Catholic education in accordance with Philippine Catholic Schools Standards. Philippine Social Science Journal, 4(2), 80-89. https://doi.org/10.52006/main.v4i2.344
- [19] Bao, W. (2020). COVID-19 and online teaching in higher education: A case study of Peking University. Human Behavior and Emerging Technologies, 2(2), 113–115. https://doi.org/10.1002/hbe2.191
- [20] Barber, S.P., Quach, J.A.(2004). Assessing the transitions to middle and high school. Journal of Adolescent Research, 19(1), 3-30.
- [21] Barchard, K.(2003) Does Emotional Intelligence Assist in the Prediction of Academic Success? Educ. Psychol. Meas., 63, 840-858. [CrossRef]
- [22] <u>Barna, J.; Brott, P. (2011)How important is Personal/Social Development to Academic Achievement?</u> <u>The Elementary School Counselor's Perspective. Prof. Sch. Couns.[CrossRef]</u>

- [23] Bataineh.M.Z (2013). Academic stress among undergraduate students: the case of education faculty at King Saud University, International Interdisciplinary Journal of Education, 2(1), 82-88.
- [24] Beckett, L. (2000). Education, health and welfare: issues for social justice. Australian Educational Researcher, 27(3), 131-142.
- [25] Beckett, M., & Pebley, A. R. (2002). Ethnicity, Language and Economic Well-Being in Rural Guatemala: RAND.
- [26] Berger, C., Alcalay, L., Torretti, A., and Milici, N. (2011). Socio-emotional well-being and academic achievement: evidence from a multilevel approach/Bem-estar sócio-emocional e desempenho acadêmico: evidência desde uma abordagem multinível. *Psicologia Reflexão e Crítica* 24, 344–351. doi: 10.1590/S0102-79722011000200016
- [27] Bhugra, D., Dill, A. & Sartorius, N. (2013). What is mental health? *International Journal of Social Psychiatry*, 59 (1), 3-4. doi:10.1177/002076401246331.
- [28] Blackwell, L. A., Trzesniewski, K. H., & Dweck, C. S. (2007). Theories of intelligence and achievement across the junior high school transition: A longitudinal study and an intervention. *Child Development*, 78, 246–263. https://doi.org/10.1111/j.1467-8624.2007.00995.x.
- [29] Blanksby, B. A., & Whipp, P. (2004). Healthy mind in a healthy body: engaging young people in physical activity through school health and physical education, (College year book / Australian College of Educators; 2004).
- [30] Bond, L., Butler, H., Glover, S., Godfrey, C., & Patton, G. (1999). The Gatehouse project: what do students' perceptions of school tell us about our methods of reform?
- [31] Boraita, R.J.; Ibort, E.G.; Torres, J.M.D(2020).; Alsina, D.A. Gender differences relating to lifestyle habits and health-related quality of life of adolescents. Child.Indic. Res, 13, 1937-1951. [CrossRef]
- [32] Bornstein, M. H., Davidson, L., Keyes, C. L. M., & Moore, K. A. (2003). Well-Being Positive Development Across the Life Course. Mahwah: Lawrence, Erlbaum Associates.
- [33] Bouffard-Bouchard, T. (1990). Influences of self-efficacy on performance in a cognitive task. Journal of Social Psychology, 130, 353-363.
- [34] Bourke, L. & Geldens, L. M, (2007). Subjective wellbeing and its meaning for young people in a rural Australian centre. *Social Indicators Research*, 82 (1), 165-187.
- [35] Bridges, L. J. (2003a). Autonomy as an Element of Developmental Well-Being. In M. H. Bornstein, L. D. Davidson, C. L. M. Keyes & K. A. Moore (Eds.), WellBeing Positive Development Across The Life Course (pp. 167-175). Mahwah: New Jersey: Lawrence Erlbaum and Associates.
- [36] Bridges, L. J. (2003b). Coping as an Element of Developmental Wellbeing. In M. H. Bornstein, L. D. Davidson, C. L. M. Keyes & K. A. Moore (Eds.), Well-Being Positive Development Across the Life Course. Mahwah, New Jersey: Lawrence Erlbaum Associates.
- [37] Brooks, S. K., Webster, R. K., Smith, L. E., Woodland, L., Wessely, S., Greenberg, N., & Rubin, G. J. (2020). The psychological impact of quarantine and how to reduce it: Rapid review of the evidence. The Lancet, 395(10227), 912–920. https://doi.org/10.1016/S0140-6736(20)30460-8
- [38] Brooks, S., Webster, R., Smith, L. (2020). The psychological impact of quarantine and how to reduce it: Rapid review of the evidence. *Lancet*, 395(10227), 912920. https://www.sciencedirect.com/science/article/pii/S0140673620304608.
- [39] Brossard, M., Cardoso, M., Kamei, A., Mishra, S., Mizunoya, S., & Reuge, N. (2020). Parental engagement in children's learning: Insights for remote learning response during COVID-19 (Innocenti Research Briefs no. 2020-09). UNICEF Office of Research Innocenti. https://www.unicef-irc.org/publications/pdf/IRB per cent202020-09 per cent20CL.pdf
- [40] Bru, E., Stornes, T., Munthe, E., & Thuen, E. (2010). Students' perceptions of teacher support across the transition from primary to secondary school. Scandinavian Journal of Educational Research, 54(6), 519-533.
- [41] Bual, J., & Madrigal, D. (2018). The quality of Catholic education in a diocesan school relative to the Philippine Catholic school standards. Philippine Social Science Journal, 1(1), 41-53. https://doi.org/10.52006/main.v1i1.11
- [42] Buctot, D.B.; Kim, N.; Kim, S.H.(2020) The role of nomophobia and smartphone addiction in the lifestyle profiles of junior and senior high school students in the Philippines. Soc.Sci. Humanit Open, 2, 100035.
- [43] Burnette, J., O'Boyle, E., Vanepps, E., Pollack, J., & Finkel, E. (2012). Mind-sets matter: A meta-analytic review of implicit theories and self-regulation. *Psychological Bulletin*, 139. https://doi.org/10.1037/a0029531.
- [44] Burrow, A. L., O'Dell, A. C., & Hill, P. L. (2010). Profiles of a developmental asset: Youth purpose as a context for hope and well-being. Journal of Youth and

- [45] Adolescence, 39(11), 1265-1273. doi:10.1007/s10964-009-9481-1 » https://doi.org/10.1007/s10964-009-9481-1
- [46] Busari, A.O. (2012). Evaluating the Relationship between Gender, Age, Depression and Academic Performance among Secondary School Students, International Journal of Interdisciplinary and Multidisciplinary Studies, 4(2), 6-12
- [47] Butkovic, A., Brkovic, I., and Bratko, D. (2012). Predicting well-being from personality in adolescents and older adults. *J. Happiness Stud.* 13, 455–467. doi: 10.1007/s10902-011-9273-7 | Google Scholar
- [48] Cahill-Solis, T. L., & Witryol, S. L. (1994). Children's exploratory play preferences for four levels of novelty in toy construction. Genetic, Social and General Psychology Monographs, 120(393-480)
- [49] Callina, K. S., Johnson, S. K., Buckingham, M. H., & Lerner, R. M. (2014). Hope in context: Developmental profiles of trust, hopeful future expectations, and civic engagement across adolescence. Journal of Youth and Adolescence, 43(6), 869-883. doi:10.1007/s10964-014-0096-9 https://doi.org/10.1007/s10964-014-0096-9
- [50] Cao, W., Fang, Z., Hou, G., Xu, X., Dang, J., & Zheng, J. (2020). The psychological impact of the COVID-19 epidemic on college students in China. *Psychiatry Research*, 287. https://doi.org/10.1016/j.psychres.2020.11
- [51] Camfield, L., Streuli, N. & Woodhead, M. (2009). What's the use of 'well-being' in contexts of child poverty? Approaches to research, monitoring and children's participation. The International Journal of Children's Rights, 17, 65-109.
- [52] Carr-Gregg, M. (2000a). Feeling connected. EQ Australia(3), 34-36.
- [53] Carr-Gregg, M. (2000b). The risky business of being young. AQ: Journal of Contemporary Analysis, 72(1), 23-24.
- [54] Carr-Gregg, M. (2000c). Student health and well-being. Paper presented at the In 'World-class curriculum 2000: Curriculum Corporation seventh national conference: conference papers' pages 32-34. Carlton South Vic: Curriculum Corporation (Australia) 2000.
- [55] Carter, S. (2016). <u>Holding it together: an explanatory framework for maintaining subjective well-being (SWB) in principals.</u> [Thesis (PhD/Research)].
- [56] Carver, C. S., Scheier, M. F., and Segerstrom, S. C. (2010). Optimism. *Clin. Psychol. Rev.* 30, 879–889. doi: 10.1016/j.cpr.2010.01.006| <u>Google Scholar</u>
- [57] Cena, J. B., & Bual, J. M. (2021). Spiritual Well-Being of Senior High School Students of Philippine Public Schools. *Philippine Social Science Journal*, 4(4), 50-61. https://doi.org/10.52006/main.v4i4.446
- [58] Chen, T.-Y.; Chou, Y.- C.; Tzemg, N. S.; Chang, H.-A.; Kuo, S.-C.; Pan, P.-Y.; Y.W.; Yeh, C.B.; Mao, W.C. (2015) Effects of a selective educational system on fatigue, sleep problems, daytime sleepiness, and depression among senior high school adolescents in Taiwan. Neuropsychiatr. Dis. Treat., 11, 741 750.[PubMed]
- [59] Chirico, F. (2016). Spiritual well-being in the 21st century: It's time to review the current WHO's health definition. Journal of Health and Social Sciences, 1(1), 11-16
- [60] Chirkov, V., Ryan, R. M., Kim, Y., & Kaplan, U. (2003). Differentiating Autonomy From Individualism and Independence: A Self-Determination Theory Perspective on Internalization of Cultural Orientations and Well-Being. Journal of Personality and Social Psychology, 84(1), 97-110.
- [61] Choi KW, Chen CY, Stein MB, Klimentidis YC, Wang MJ, Koenen KC, Smoller JW.
 (2019) Assessment of Bidirectional Relationship Between Physical Activity and Depression Among Adults: A2- Sample Mendelian Randomization Study.JAMA Psychiatry.; 76(4):399-408.PMID: 30673066.
- [62] Chui, W. H., & Wong, M. Y. (2017). Avoiding Disappointment or Fulfilling Expectation: A Study of Gender, Academic Achievement, and Family Functioning among Hong Kong Adolescents. Journal of Child and Family Studies 26(1), 48-56.
- [63] Cloninger, C. R. (2012). Healthy personality development and well-being. *World Psychiatry* 11, 103–104. doi: 10.1016/j.wpsyc.2012.05.01| Google Scholar
- [64] Cloninger, C. R., Zohar, A. H., and Cloninger, K. M. (2010). Promotion of well-being in person-centered mental health care. *Focus* 8, 165–179. doi:10.1176/foc.8.2.foc165 | Google Scholar
- [65] Cohen, C., Cadima, G., & Castellanos, D.(2020). Adolescent well-being and coping during COVID-19: A US – based survey. Journal of Pediatrics and Neonatology, 2(1), 15-20.
- [66] Cornelio J. (2011). Being Catholic as reflexive spirituality: The case of religiously involved Filipino students. Asia Research Institute Working Paper No. 146, http://dx.doi.org/10.2139/ssrn.1743931
- [67] Costa, A.; Faria, L. (2015) The impact of Emotional Intelligence on academic achievement: A longitudinal study in Portuguese secondary school. Learn Individ. Differ. [CrossRef]
- [68] <u>Cuellar, R.(2012) Relacion entre Inteligencia Emocional y Rendimiento Academico en Alumnos de Educacion Primaria. Master's Thesis, Universidad Internacional de La Rioja, España.</u>

- [69] Daniel, S. J. (2020). Education and the COVID-19 pandemic. Prospects, 49(1–2), 91–96. https://doi. org/10.1007/s11125-020-09464-3
- [70] Davison, S. N., & Jhangri, G. S. (2010). Existential and religious dimensions of spirituality and their relationship with health-related quality of life in chronic kidney disease. Clinical Journal of the American Society of Nephrology, 5(11), 1969-1976
- [71] Davydov, F. M., Stewart, R., Ritchie, K., and Chaddieu, I. (2010). Resilience and mental health. *Clin. Psycholol. Rev.* 30, 479–495. doi:10.1016/j.cpr.2010.03.003 | GoogleScholar
- [72] Deb, Sibnath, Esben,S., and Jiandong,S. (2014). Academic-related stress among private secondary school students in India, Asian Education and Development Studies, 3(2), 118-134
- [73] Deb Barman . (2020, July 2). Tripura man ends life after failing to buy smartphone for
- [74] daughter's online classes. https://www.hindustantimes.com/india-news/tripura-man-ends-life-after-failing-to-buy-smartphone-for-daughter-s-online-classes/story- dXexxwrxS104pWmicMI1O.htmlGoogle Scholar
- [75] Deci, E.L. & Ryan, R.M. (2000). 'The "what" and "why" of goal pursuits: Human needs and the self-determination of behaviour. *Psychological Inquiry*, 11, 227–268.
- [76] Demuyakor, J. (2020). Coronavirus (COVID-19) and online learning in higher institutions of education: A survey of the perceptions of Ghanaian international students in China. Online Journal of Communication and Media Technologies, 10(3), e202018. https://doi.org/10.29333/ojcmt/8286
- [77] Dein, S., Loewenthal, K., Lewis, C.A. & Pargament, K. (2020). COVID-19, mental health and religion: An agenda for future research. Mental Health, Religion, and Culture, 23:1, 1-9, https://doi.org/10.1080/13674676.2020.1768725
- [78] Diener, E. (2000). SWB: The science of happiness, and a proposal for a national index. *American Psychologist*, 55, 34-43. doi: 10.1037/0003-066X.55.1.34.
- [79] Diener, E. (2009). Assessing well-being: The collected works of Ed Diener. Social Indicators Research Series, 39. New York, NY: Springer.
- [80] Diener, E., & Eid, M. (2006). The finale: Take-home messages from the editors. In M. Eid & E. Diener (Eds.). Handbook of multi-method measurement in psychology. (pp. 457-463). Washington, DC:American Psychological Association.
- [81] Denier, E. & Ryan, K. (2009) Subjective wellbeing: A general overview. *South African Journal of Psychology*, 39(4), 391 406.
- [82] Department of Education (DepEd). (2016). K to 12 basic education curriculum senior high school academic strand. https://www.deped.gov.ph/wp-content/uploads/2019/01/Introduction-to-World-Religions-andBelief-Systems.pdf
- [83] Dhull, I., & Kumari, S. (2015). Academic stress among adolescent in relation to gender. International Journal of Applied Research, 1(11), 394-6.
- [84] Diener, E., Lucas, R. E., & Oishi, S. (2002). Subjective well-being: The science of happiness and life satisfaction. In C. R. Snyder & S. J. Lopez (Eds.), Handbook of Positive Psychology. New York: Oxford University Press. Diener, E., Sapyta, J. J., & Suh, E. (1998). Subjective wellbeing is essential to wellbeing. Psychological Inquiry, 9, 33-37
- [85] Dimitrov.G (2017). A study on the impact of Academic Stress among college students in India, Ideal Research. 2(4)
- [86] Ditommaso, E., Brannen, C., & Best, L. (2004). Measurement and validity characteristics of the short version of the social and emotional loneliness scale for adults. *Educational and Psychological Measurements*, 64, 99–119. https://doi.org/10.1177/0013164403258450.
- [87] Dodge, R., Daly, A., Huyton, J., & Sanders, L. (2012). The challenge of defining wellbeing. *International Journal of Wellbeing*, 2 (3), 222-235. doi:10.5502/ijw.v2i3.4
- [88] Dowd, A. J., Friedlander, E., Jonason, C., Leer, J., Sorensen, L. Z., Guajardo, J., D'Sa, N., Pava, C., & Pisani, L. (2017). Lifewide learning for early reading development. In A. Gove, A. Mora, & P. McCardle (Eds.), Progress toward a literate world: Early reading interventions in low-income countries, New Directions for Child and Adolescent Development (pp. 31–49). Jossey-Bass.
- [89] Duckworth, A., Peterson, C., Matthews, M., & Kelly, D. (2007). Grit: Perseverance and passion for long-term goals. *Journal of Personality and Social Psychology*, 92(6), 1087–1101. https://doi.org/10.1037/0022-3514.92.6.1087.
- [90] Dusselier, L., Dunn, B., Wang, Y., Shelley, M., & Whalen, D. (2005). Personal, health, academic, and environmental predictors of stress for residence hall students. *Journal of American College Health*, *54*, 15–24. https://doi.org/10.3200/JACH.54.1.15-24.
- [91] Dweck, C. (2007). Mindset: The new psychology of success. New York: Ballantine Books.

- [92] Ellis, W.E., Dumas, T. M.,& Forbes, L.M. (2020). Physically isolated but socially connected: Psychological adjustment and stress among adolescents during the initial COVID 19 crisis. Canadian Journal of Behavioural Science, 52(3), 177-187.
- [93] Elmer, T., Mepham, K., & Stadtfeld, C. (2020). Students under lockdown: Comparisons of students' social networks and mental health before and during the COVID-19 crisis in Switzerland. PLOS One, 15(7), e0236337. https://doi.org/10.31234/OSF.IO/UA6TQ
- [94] Elmerstig, E.; Wijima, B.; Arestedt, K.; Swahnberg, K. (2017) Being "good in bed"- body concerns, self-perceptions, and gender expectations among Swedish heterosexual female and male senior high-school students. J. Sex. Marital. Ther., 43, 326-342. [CrossRef]
- [95] Elmore, G. M., and Huebner, E. S. (2010). Adolescents' satisfaction with school experiences: relationships with demographics, attachment relationships, and school engagement behaviour. *Psychol. Sch.* 47, 525–537. doi: 10.1002/pits.20488 | Google Scholar
- [96] Eschenbeck, H., Kohlmann, C. W., & Lohaus, A. (2007). Gender differences in coping strategies in children and adolescents. Journal of individual differences, 28 (1), 18.
- [97] Extremera, N.; Fernandez- Berrocal, P.(2004) El papel de la inteligencia emocional en el alumnado: Evidencias empiricas. REDIE, 6, 1-17.
- [98] Extremera, N.; Fernandez- Berrocal, P.(2005) Perceived emotional intelligence and life satisfaction: Predictive and incremental validity using the Trait Meta- Mood Scale. Personal. Individ. Differ., 39, 937 948. [CrossRef]
- [99] Ewart, C. G., Jorgensen, R. S., Suchday, S., Chen, S., & Matthews, K. (2002). Measuring Stress Resilience and Coping in Vulnerable Youth: The Social Competence Interview. Psychological Assessment, 14(3), 339-352.
- [100] Fairbrother, K., & Warn, J. (2003). Workplace dimensions, stress and job satisfaction. Journal of managerial psychology
- [101] Fallahzadeh, H.(2011) The Relationship between Emotional Intelligence and Academic Achievement in medical science students in Iran. Procedia Soc. Behav. Sci., 30, 1461-1466.[CrossRef] Fegert, J. M., Vitiello, B., Plener, P. L., Clemens, V. (2020). Challenges and burden of the Coronavirus 2019 (COVID-19) pandemic for child and adolescent mental health: A narrative review to highlight clinical and research needs in the acute phase and the long return to normality. Child and Adolescent Psychiatry and
- [102] Fernandez- Berrocal, P.; Extremera, N. (2016) Ability Emotional Intelligence, Depression, and Well-Being. Emot. Rev., 8, 311-315. [CrossRef]
- [103] Fernandez- Prieto, I.; Gine Garriga, M.; Canet- Velez, O. (2019) Barreras y motivaciones percibidas por adolescentes en relacion con la actividad fisica. Estudio cualitativo a traves de grupos de discussion. Rev. Esp. Salud Publica, 93, e201908047.
- [104] Fernando, M.; Prieto, M.; Almeida, L.; Fernandiz, C.; Bermejo, R.; Lopez- Pina, J.; Hernandez, D.; Sainz, M.; Fernandez, M.C.(2010) Trait Emotional Intelligence and Academic Performance: Controlling for the Effects of IQ, Personality, and Self Concept. J.Psychoeduc. Assess., 29, 150-159. [CrossRef]
- [105] Fiorillo, A., & Gorwood, P. (2020). The consequences of the COVID-19 pandemic on mental health and implications for clinical practice. *Journal of European Psychiatry*, 63(1), e32. https://doi.org/10.1192/j.eurpsy.20
- [106] Fiorilli, C.; Farina, E.; Buonomo, I.; Costa, S.; Romano, L.; Larcan, R.(2020) Trait Emotional Intelligence and School Burnout: The Mediating Role of Resilience and Academic Anxiety in High School. Int. J. Environ. Res. Public Health, 17, 3058.[CrossRef]
- [107] Fisher, J. (2011). The four domains model: Connecting spirituality, health and wellbeing. Religions, 2(1), 1
- [108] Fletcher, D., & Sarkar, M. (2012). A grounded theory of psychological resilience in Olympic champions. *Psychology of Sport and Exercise*, 13(5), 669–678. https://doi.org/10.1016/j.psychsport.2012.04.007.
- [109] Folkman, S. (2013). Stress, coping, and hope. In B. I. Carr & J. Steel (Eds.), Psychological aspects of cancer (pp. 119-127). New York, NY: Springer.
- [110] Font, T.(2013) Intelligencia emocional, engagement i exit academic. Rev. Psicol. Ciencies l' Educacio l' Esport Blanquerna, 31, 59-64.
- [111] Frey, K. S., & Ruble, D. N. (1985). What children say when the teacher is not around: Conflicting goals in the social comparison and performance assessment in the classroom. Journal of Personality and Social Psychology, 48, 550-562.
- [112] Fuller, A. (2000). Bungy jumping through the ups and downs of life. AQ: Journal of Contemporary Analysis, 72(1), 25-27.

- [113] Fuller, A. (2001). A blueprint for the social competencies in children and adolescents, Health Education Australia.
- [114] Galea, S., Merchant, R., & Lurie, N. (2020). The mental health consequences of COVID-19 and physical distancing: The need for prevention and early intervention [published online April 10th, 2020]. *JAMA Internal Medicine*. https://doi.org/10.1001/jamainternmed.2020.1562.
- [115] Galen, L. W., & Kloet, J. D. (2011). Mental wellbeing in the religious and the non-religious: Evidence for a curvilinear relationship. Mental Health, Religion & Culture, 14(7), 673-689.
- [116] Garbe, A., Ogurlu, U., Logan, N., & Cook, P. (2020). Parents' experiences with remote education during COVID 19 schoo closures. American Journal of Qualitative Research, 4(3), 45-65.
- [117] Gentry, L. A., Chung, J. J., Aung, N., Keller, S., Heinrich, K. M., & Maddock, J. E. (2007). Gender differences in stress and coping among adults living in Hawaii. Californian Journal of Health Promotion, 5(2), 89-102
- [118] Ghatol, S. D. (2017). Academic stress among higher secondary school students: a review. Int J Adv Res Educ Technol (IJARET), 4(1), 38-41
- [119] Gillen, M.M. (2015) Associations between positive body image and indicators of men's and women's mental and physical health. Body Image, 13, 67-74. [CrossRef] [PubMed]
- [120] Gilman, R., and Huebner, E. S. (2006). Characteristics of adolescents who peport very high life satisfaction. *J. Youth Adolesc.* 35, 311–319. doi: 10.1007/s10964-006-9036-7 | Google Scholar
- [121] Gil-Olarte, P.; Guil, R.; Mestre, J. M.; Nuñez, I. (2005) La
- [122] Gladstein, G. A. (1983). Understanding Empathy: Integrating Counseling Developmental, and Social Psychology Perspectives. Journal of Counseling Psychology, 30(4), 467-482.
- [123] Glick, J. E., & White, M. J. (2004). Post-secondary school participation of immigrant and native youth: The role of familial resources and educational expectations. Social Science Research, 33, 272–299.
- [124] Goldenberg, C., Gallimore, R., Reese, L., & Garnier, H. (2001). Cause or effect? A longitudinal study of immigrant Latino parents' aspirations and expectations, and their children's school performance. American Educational Research Journal, 38(3), 547–582.
- [125] Goodenow, C. (1993). The psychological sense of school membership among adolescents: Scale development and educational correlates. Psychology in the Schools, 30, 79-90.
- [126] Goodman, E., Ewens, B. S., Dolan, L. M., Schafer Kalkhoff, T., & Adler, N. A., 2005, Social disadvantage and adolescent stress. Journal of Adolescent Health, 37 (6), 494 492.
- [127] Goodwin, R., Cook, O., & Yung, Y. (2001). Loneliness and life satisfaction among three cultural groups. *Personal Relationships*, 8(2), 225–230. https://doi.org/10.1111/j.1475-6811.2001.tb00037.x.
- [128] Graetz, C., Ehrenthal, J. C., Senf, D., Semar, K., Herzog, W., & Dörfer, C. E. (2013). Influence of psychological attachment patterns on periodontal disease–a pilot study with 310 compliant patients. Journal of clinical periodontology, 40(12), 1087-1094
- [129] Gromada, A., Richardson, D., & Rees, G. (2020). Childcare in a global crisis: the impact of COVID-19 on work and family life (Innocenti Research Briefs no. 2020-18). UNICEF Office of Research Innocenti. https://www.unicef-irc.org/ publications/pdf/IRB-2020-18-childcare-in-a-global-crisisthe-impact-of-covid- 19-on-work-and-family-life.pdf
- [130] Gustafsson, H., Skoog, T., Podlog, L., Lundqvist, C., & Wagnsson, S. (2013). Hope and athlete burnout: Stress and affect as mediators. Psychology of Sport and Exercise, 14(5), 640649. doi:10.1016/j.psychsport.2013.03.008
- [131] Haas J, Baber M, Byrom N, Meade L, Nouri- Aria K. (2018) Changes in student physical health behaviour: an opportunity to turn the concept of a healthy University into a reality. Perspectives in public health.;138(6):316-324.
- [132] Hage, S. M. (2006). A closer look at the role of spirituality in psychology training programs. Professional Psychology: Research and Practice, 37(3), 303
- [133] Händel, M., Stephan, M., Gläser-Zikuda, M., Kopp, B., Bedenlier, S., & Ziegler, A. (2020). Digital readiness and its effects on higher education students' socio-emotional perceptions in the context of the COVID-19 pandemic. Journal of Research on Technology in Education, 52(5), 1–13. https://doi.org/10.1080/15391523.2020.1846147
- [134] Harter, S. (2006). The self. In Eisenberg, N., Damon, W., & Lerner, R. M. (Eds.),
- [135] Handbook of child psychology (pp. 505–570). Hoboken, NJ: John Wiley.
- [136] Hattie, J. A., Myers, J. E., & Sweeney, T. J. (2004). A Factor Structure of Wellness: Theory, Assessment, Analysis and Practice. Journal of Counseling & Development, 82(Summer), 354-364.
- [137] Hazari, A. (2013). The biggest stress for students: parental pressure. South China
- [138] Morning Post. Retreived from https://www.scmp.com/comment/insight-
- [139] opinion/article/1355233/biggest-stress-students-parental-pressure.

- [140] Hauser, R. M. (1994). Measuring Socioeconomic Status in Studies of Child Development. Child Development, 65, 1541-1545.
- [141] Heatherton, T. F., & Polivy, J. (1991). Development and validation for a scale for measuring state self-esteem. Journal of Personality and Social Psychology, 60, 895-910.
- [142] Heatherton, T. F., & Wyland, C. L. (2003). Assessing Self-Esteem. In S. J. Lopez & C. R. Snyder (Eds.), Positive Psychological Assessment. Washington: American Psychological Association.
- [143] Hettler, W. (1984). Wellness: Encouraging a lifetime pursuit of excellence. Health Values: Achieving High Level Wellness, 8, 13-17
- [144] Hill, P. C., Pargament, K. I., Hood, R. W. J., McCullough, M. E., & Swyers, J. P. (2000). Conceptualising religion and spirituality: Points of commonality, points of departure. Journal for the Theory of Social Behaviour, 30, 51-77.
- [145] Hill, P. C., & Pargament, K. I. (2003). Advances in the conceptualization and measurement Recoletos Multidisciplinary Research Journal June 9 3 of religion and spirituality: Implications for physical and mental health research. American psychologist, 58(1), 64.
- [146] Holmes, K. E. (2013). Influences of parental expectations and involvement on academic
- [147] success (Doctoral dissertation). Retrieved from http://csusdspace.calstate
- [148] Huebner, E. S. (2004). Research on assessment of life satisfaction of children and
- [149] adolescents. Soc. Indic. Res. 66, 3-33.
- [150] doi:10.1023/B:SOCI.0000007497.57754.e3 | Google Scholar
- [151] Husain, A. (2008). Horizons of Spiritual Psychology. New Delhi: Global Vision Publishing House.
- [152] Jackson, M., & Tessler, R. (1984). Perceived lack of control over life events: Antecedents and consequences in a discharged patient sample. *Social Science Research*, 13(3). https://doi.org/10.1016/0049-089X(84)90016-4.
- [153] Jena, P. (2020). Impact of pandemic COVID-19 on education in India. International Journal of Current Research, 12, 12582–12586. Google Scholar
- [154] Jarosz, E. (2018). Lifestyle behaviours or socioeconomic characteristics? Gender differences in covariates of BMI in Hungary. Obes.Sci.Pract.4,591-599.
- [155] Jena, P. K. (2020). Impact of Covid-19 on higher education in India. International Journal of Advanced Education and Research, 5(3), 77–81. https://doi.org/10.31235/osf.io/jg8fr
- [156] Jennings, K. D., & Dietz, L. J. (2003). Mastery Motivation and Goal Persistence in Young Children. In M. H. Bornstein, L. D. Davidson, C. L. M.
- [157] Josefsson, K., Cloninger, C. R., Hintsanen, M., Jokela, M., Pulkki-Raback, L., and
- [158] Keltikangas-Järvinen, L. (2011). Associations of personality profiles with
- [159] various aspects of well-being: a population-based study. J. Affect. Disord. 133,
- [160] 265–273. doi: 10.1016/j.jad.2011.03.023 | Google Scholar
- [161] Johnson, S. (2001). Christian spiritual formation in an age of "whatever". Review & Expositor, 98(3), 309-331. https://doi.org/10.1177/003463730109800302
- [162] Johnson, B., Batia, A. S., & Haun, J. (2008). Perceived stress among
- [163] graduate students: Roles, responsibilities, & social support. VAHPERD
- [164] Journal, 29(3), 31-36.
- [165] Juvonen, J., & Graham, S.(2014). Bullying in schools: The power of bullies and the plight of victims. Annual Review of Psychology, 65(1), 159 185.
- [166] Juvonen, J., Espinoza, G., & Knifsend, C.(2012). The role of peer relationships in student academic and extracurricular engagement. In S.L. Christenson, A.L. Reschly, & C. Wylie(Eds.), Handbook of research on student engagement(pp.387-401). Springer.
- [167] KaningM, Schlicht W. (2010) Be active and become happy: An ecological momentary assessment of physical activity and mood. J Sport Exerc. Psychol.;32(2): 253-261.
- [168] Kaur, S. (2014). Impact of Academic Stress on Mental Health: A Study of School going
- [169] Adolescents, Global Journal for Research Analysis, 3(4)
- [170] Kapasia, N., Paul, P., Roy, A., Saha, J., Zaveri, A., Mallick, R., Barman, B., Das, P., & Chouhan, P. (2020). Impact of lockdown on learning status of undergraduate and postgraduate students during COVID-19 pandemic in West Bengal, India. Children and Youth Services Review, 116, 105194. https://www.ncbi.nlm.nih.gov/pmc/articles/PMC7308748/
- [171] Kausar, R. (2010). Perceived Stress, Academic Workloads and Use of Coping Strategies by University Students. Journal of behavioural sciences, 20(1)
- [172] Kecojevic, A., Basch, C. H., Sullivan, M., & Davi, N. K. (2020). The impact of the COVID-19 epidemic on mental health of undergraduate students in New Jersey, cross-sectional study. PLOS ONE, 15(9), e0239696. https://doi.org/10.1371/journal.pone.0239696
- [173] Khan,M.J. and Altaf, S. Kausar,H.(2013). Effect of Perceived Academic Stress on Students' Performance, FWU Journal of Social Sciences, 7(2), 146-151

- [174] Kim, S., & Esquivel, G. B. (2011). Adolescent spirituality and resilience: Theory, research, and educational practices. Psychology in the Schools, 48(7), 755-765. https://doi.org/10.1002/pits.20582
- [175] Kim-Prieto, C., & Miller, L. (2018). Intersection of religion and subjective well-being. Handbook of well-being. Salt Lake City, UT: DEF Publishers
- [176] Kirkland, A. (2014). What is wellness now? Journal of Health Politics, Policy & Law, 39 (5),957-970.
- [177] Kitchens, M. B., & Phillips III, R. E. (2018). A curvilinear relationship between clear beliefs about God and self-concept clarity. Psychology of Religion and Spirituality
- [178] Koenig, H. G., & Larson, D. B. (2001). Religion and mental health: Evidence for an association. International Review of Psychiatry, 13(2), 67-78
- [179] Kose, S.; Kurcu Yilmaz, S.;Goktas, S.(2018) The relation between exam anxiety levels and sleep quality of senior high school students. J. Psychiatr. Nurs., 9, 105-111. [CrossRef]
- [180] Kotaiah, V. (2014) Role of teachers in the development of moral values. International Journal of English Language Literature and Translation Studies 1: 70-72
- [181] Kouza, N. M., & Kennedy, G. A., 2004, Self- reported sources of stress in senior high school students. Psychological Reports, 94, 314 316.
- [182] Krause, N. (2015). Religious doubt, helping others, and psychological well-being. Journal of Religion and Health, 54(2), 745-758
- [183] Kristensen, C. H., Schaefer, L. S., & Busnello, F. B. (2010). Estratégias de coping e sintomas de stress na adolescência [Coping strategiesand stress symptoms in adolescence]. Estudos de Psicologia (Campinas), 27(1), 21-30. doi:10.1590/S0103-166X2010000100003
- [184] Krishnan, M. (2018). Why many Indians prefer sons over daughters. DW Akademie. Retrieved from https://p.dw.com/p/2rqSr
- [185] Kumar, S., & Jadaun, M. U. (2018). Effect of parental expectations and academic stress on academic achievement in higher studies with special reference to district Aligarh. Multidisciplinary Higher Education, Research, Dynamics & Concepts: Opportunities & Challenges for Sustainable Development (ISBN 978-93-87662-12-4), 1 (1), 153-161.
- [186] Kumar, S., & Bhukar, J. P. (2013). Stress level and coping strategies of college students. Journal of Physical Education and Sport Management, 4(1), 5-11.
- [187] Larsen, R. J. & Eid, M. (2008). Ed Diener and the Science of SWB. In M. Eid & R. J. Larsen (Eds.), *The science of SWB*. New York, NY: Guilford.
- [188] Lazarus, R. S., & Folkman, S. (1984). Stress appraisal and coping. New York: Springer.
- [189] Leary, H. (2000). How to enhance school culture, student achievement and psychological well-being. Education Horizons.
- [190] Lee, J.; Lee, Y. (2015) The association of body image distortion with weight control behaviors, diet behaviors, physical activity, sadness, and suicidal ideation among Korean high school students: A cross-sectional study. BMC Public Health, 16, 39.[CrossRef]
- [191] Lee, R. M., & Robbins, S. B. (1998). The relationship between social connectedness and anxiety, self-esteem, and social identity. Journal of Counseling Psychology, 45(3), 338-345.
- [192] Legada, E. L., Madrigal, D. V., & Maravilla, M. W. M. (2020). Spiritual Well-Being and Resiliency of the Diocesan Seminarians of Antique. Philippine Social Science Journal, 3(1), 53-69. Retrieved from https://philssj.org/index.php/main/article/view/124
- [193] Lent, R. W. (2004). Toward a Unifying Theoretical and Practical Perspective on Well-Being and Psychosocial Research. Journal of Counseling Psychology, 51(4), 482-509.
- [194] Li, W., Zhang, Y., Wang, J., Ozaki, A., Wang, Q., Chen, Y., & Jiang, Q.(2021). Association of home quarantine and mental health among teenagers in Wuhan, China, during the COVID 19 pandemic. JAMA Pediatrics, 175(3), 313-316.
- [195] Lewis, A. D., Huebner, E. S., Malone, P. S., and Valois, R. F. (2011). Life satisfaction and student engagement in adolescents. *J. Youth Adolesc.* 40, 249–262. doi: 10.1007/s10964-010-951| Google Scholar
- [196] Litman, J. A., & Jimerson, T. L. (2004). The measurement of curiosity as a feeling of deprivation. Journal of Personality Assessment, 82(2), 147-157.
- [197] Liu, Y., Lu, Z. (2011). The Chinese high school student's stress in the school and academic achievement. Educational Psychology, 31(1), 27–35. <u>Google Scholar</u>
- [198] Liu, Y., & Lu, Z. (2012). Chinese high school students' academic stress and depressive symptoms: Gender and school climate as moderators. Stress and Health, 28(4), 340-346. doi:10.1002/smi.2418
- [199] Liu, Y. (2015). The longitudinal relationship between Chinese high school students' academic stress and academic motivation. Learning and Individual Differences, 38, 123–126. Google Scholar

- [200] Lowry, R.; Michael, S.; Demissie, Z.; Kann, L.; Galuska, D. A. (2015) Associations of physical activity and sedentary behaviors with dietary behaviors among US high school students. J.Obes., 876524.[CrossRef]
- [201] Luepker, R. V., Perry, C. L., McKinlay, S. M., Nader, P. R., Parcel, G. S., & Stone, E. J. (1996). Outcomes of field trial to improve children's dietary patterns and physical activity. The Child and Adolescent Trial for Cardiovascular Health. CATCH collaborative group. Journal of the American Medical Association, 275(768-776).
- [202] Lun, V. M. C., & Bond, M. H. (2013). Examining the relation of religion and spirituality to subjective well-being across national cultures. Psychology of Religion and Spirituality, 5(4), 304
- [203] Ma, H., & Miller, C. (2020). Trapped in a double bind: Chinese overseas student anxiety during the COVID-19 pandemic. Health Communication, 1-8. https://doi.org/10.1080/10410236.2020. 1775439
- [204] Ma, Y., Siu, A., & Tse, W. S. (2018). The role of high parental expectations in adolescents' academic performance and depression in Hong Kong. Journal of Family Issues, 39(9), 2505-2522.
- [205] Machado, L. S., Perlin, M., Soletti, R. C., e Silva, L. K. R., Schwartz, I. V. D., Seixas, A., Ricachenevsky, F. K., Neis, A. T., Staniscuaski, F. (2019, May). Parent in science: The impact of parenthood on the scientific career in Brazil. In 2019 IEEE/ACM 2nd international workshop on gender equality in software engineering (GE) (pp. 37–40). IEEE. Google Scholar
- [206] Madrigal, D. V., Erillo, R. P., & Oracion, E. G. (2020). Religiosity and spiritual well-being of senior high school students of a Catholic college in the Philippines. Recoletos Multidisciplinary Research Journal, 8(1), 79-95. https://doi.org/10.13140/RG.2.2.23548.08321
- [207] Mak, M. C. K., Han, Y. M. Y., You, J., Jin, M., & Bond, M. H. (2011). Building life satisfaction through attachment to mother and beliefs about the world: Social axioms as mediators in two cultural groups. Mental Health, Religion & Culture, 14(3), 223-239
- [208] Mansukhani, R., &Resurreccion, R. (2009). Spirituality and the development of positive character among Filipino adolescents. Philippine Journal of Psychology, 42(2).
- [209] Marinoni, G., van't Land, H., & Jensen, T. (2020). The impact of Covid-19 on higher education around the world. IAU Global Survey Report. International Association of Universities (IAU). https://www.youtube.com/channel/UCT5nt5FGVklxrtUHinF_LFA
- [210] Marks, G. N., & Fleming, N. (1999). Influences and consequences of well-being among Australian young people: 1980 1995. Social Indicators Research.
- [211] Marks, H. (2000). Student Engagement in Instructional Activity: Patterns in the Elementary, Middle and High School Years. American Educational Research Journal, 37(1), 153-184.
- [212] Marques, C. P., Gasparotto, G. S., & Coelho, R. W. (2015). Fatores relacionados ao nível de estresse em adolescentes estudantes: Uma revisão sistemática [Stress level related factors in adolescents students: A systematic review]. Salusvita, 34(1), 99-108.
- [213] Mata-McMahon, J. (2016). Reviewing the research in children's spirituality (2005–2015): Proposing a pluricultural approach. International Journal of Children's Spirituality, 21 (2), 140–151. https://doi.org/10.1080/136443 6X.2016.1186611
- [214] Mathur & Anjali. (2014). Effect of Parental Stress on Academic Performance of Children. The Journal of Asian Regional Association for Home Economics, 21(3), 112-118.
- [215] Matud, M. P., Ibañez, I., Bethencourt, J. M., Marrero, R., & Carballeira, M. (2003). Structural gender differences in perceived social support. Personality and Individual Differences, 35(8), 1919-1929.
- [216] McCallum, F. & Price, D. (Eds.) (2016). Nurturing wellbeing development in things, big things grow. New York, N.Y: Routledge.
- [217] McDowell, I. (2010). Measures of self-perceived well-being. *J. Psychosom. Res.* 69, 69–79. doi: 10.1016/j.jpsychores.2009.07.002 | Google Scholar
- [218] MCINERNEY, D. M. 2004. A discussion of future time perspective. Educational Psychology Review, 16, 141-151.
- [219] McKean, M., Misra, R., West, S, and Tony, R.(2000). College Students' Academic Stress and Its relation to Their Anxiety, Time Management, and Leisure Satisfaction. American Journal of Health Studies, 16, 41-51
- [220] McKnight, C. G., Huebner, E. S., and Suldo, S. (2002). Relationship among stressful life events, temperament, problem behaviour, and global life satisfaction in adolescents. *Psychol. Sch.* 39, 677–687. doi: 10.1002/pits.10062| Google Scholar
- [221] McMillan, D. W., & Chavis, D. M. (1986). Sense of community: A definition and theory. Journal of Community Psychology, 14, 6-23.
- [222] Maunder, R. G., Leszcz, M., Savage, D., Adam, M. A., Peladeau, N., Romano, D., Rose, M., & Schulman, B. (2008). Applying the lessons of SARS to pandemic influenza: An evidence-based approach

- to mitigating the stress experienced by healthcare workers. *Canadian Journal of Public Health*, 99(6), 486–488 https://10.1007/BF03403782.
- [223] Michalos, A.C (2007). Education, happiness and wellbeing. Paper presented at the International Conference on 'Is happiness measurable and what do those measures mean for public policy?' Rome, Italy.
- [224] Mineka, S., & Kelly, K. (1989). The relationship between anxiety, lack of control and loss of control. In A. Steptoe & A. Appels (Eds.), *Stress, personal control and health* (pp. 163–191). New Jersey: US: John Wiley & Sons.
- [225] Ministry of Statistics and programme implementation, Government of India (July 2017–June 2018). Key Indicators of household social consumption on Education in India. http://mospi.nic.in/sites/default/files/publication_reports/KI_Education_75th_Final.pdfGoogle_Scholar
- [226] Misra, R., & Castillo, L. G. (2004). Academic stress among college students: Comparison of American and international students. International Journal of Stress Management, 11(2), 132
- [227] Moccia, L., Janiri, D., Pepe, M., Dattoli, L., Molinaro, M., De Martin, V., & Di Nicola, M. (2020). Affective temperament, attachment style, and the psychological impact of the COVID-19 outbreak: An early report on the Italian general population. *Brain, Behaviour and Immunity*. https://doi.org/10.1016/j.bbi.2020.04.048.
- [228] Mooij. (1999). Promoting prosocial pupil behaviour: 2-Secondary school intervention and pupil effects. British Journal of Educational Psychology, 69(4), 479-504.
- [229] Musumari, P., Tangmunkongvorakul, A., Srithanaviboonchai, K., Techasrivichien, T., Suguimoto, S., Ono-Kihara, M., & Kihara, M. (2018). Grit is associated with lower level of depression and anxiety among university students in Chiang Mai, Thailand: A cross-sectional study. *Plos One Journal*, 13(12). https://doi.org/10.1371/journal.pone.0209121.
- [230] Naha, A. L. (2020, June 2). Kerela class X girl ends life allegedly over lack of access to online classes. https://www.thehindu.com/news/national/kerala/kerala-class-x-girl-ends-life-allegedly-over-lack-of-access-to-online-classes/article31728470.eceGoogle Scholar
- [231] Nandamuri, P.P. and Gowthami, Ch.(2011). Sources of Academic Stress-A Study on Management Students, Journal of Management and Science,1(2), 31-42
- [232] Nazam, F., & Husain, A. (2016). Exploring spiritual values among school children. International Journal of School and Cognitive Psychology 3(175), 2. https://doi.org/10.4172/2469-9837.1000175
- [233] Nelson, B. (2004). Why it takes two to tango: a whole-of-government approach to education and health, (College year book / Australian College of Educators; 2004).
- [234] O'Brien. (2003). Measuring Career Self-Efficacy: Promoting Confidence and Happiness at Work. In S. J. Lopez & C. R. Snyder (Eds.), Positive Psychological Assessment A handbook of models and measures. Washington DC: Ameriacan Psychological Association.
- [235] OECD (2017), "Students' Well- being: What it is and how it can be measured", in PISA 2015 Results (Volume III): Students' Well- Being, OECD publishing, Paris. https://doi.org/ 10.1787/9789264273856-6-en
- [236] OECD (2015), How's Life? 2015: Measuring Well-being, OECD Publishing, Paris, http://dx.doi.org/10.1787/how life-2015-en
- [237] Okruszek, Ł., Aniszewska-Stańczuk, A., Piejka, A., Wiśniewska, M., & Żurek, K. (2020). Safe but lonely? Loneliness, mental health symptoms and COVID-19. Frontiers in Psychology. https://doi.org/10.31234/osf.io/9njps.
- [238] O'Neil A, Quirk SE, Housden S, Brennan SL, Williams LJ, PascoJA, et al., (2014) Relationship between diet and mental health in children and adolescents: A systematic review. Vol. 104, American Journal of Public Health. American Public Health Association Inc.;p.e31-42.
- [239] Oracion, E., & Madrigal, D. (2019). Catholic Identity and Spiritual Well-Being of Students in a Philippine Catholic University. Recoletos Multidisciplinary Research Journal, 7(2), 47-60. https://doi.org/10.32871/rmrj1907.02.04
- [240] Owusu-Fordjour, C., Koomson, C. K., & Hanson, D. (2020). The impact of COVID-19 on learning The perspective of the Ghanaian student. European Journal of Education Studies, 7(3), 1–14. https://doi.org/10.5281/zenodo.3753586
- [241] Pajares, F. (1996). Self-efficacy beliefs in academic settings. Review of Educational Research, 66, 543-578.
- [242] Palombi. (1992). Psychometric Properties of Wellness Instruments. Journal of Counseling & Development, 71(November/December), 221-225.
- [243] Pan, S. (2020). COVID-19 and the neo-liberal paradigm in higher education: Changing landscape. Asian Education and Development Studies, 10(2), 322–335. https://doi.org/10.1108/AEDS-06-2020-0129

- [244] Pascoe, M. C., Hetrick, S. E., Parker, A. G. (2020). The impact of stress on students in secondary school and higher education. International Journal of Adolescence and Youth, 25(1), 104–112. Google Scholar
- [245] Patel, V., Flisher, A., Sarah, H., & McGorry, P., (2007), Mental health of young people: A global public health challenge. Lancet, 369, 1302 1313.
- [246] Peetsma, T. T. 2000. Future time perspective as a predictor of school investment. Scandinavian Journal of Educational Research, 44, 177-192
- [247] Pervanidou, P., Chrousos, G. P. (2012). Metabolic consequences of stress during childhood and adolescence. Metabolism, 61(5), 611–619. Google Scholar
- [248] Pizarro- Ruiz, J.P.; Ordoñez Camblor, N. (2021)Effects of Covid 1 confinement on the mental health of children and adolescents in Spain. Sci. Rep., 11, 11713. [CrossRef]
- [249] Pollard, E. L., & Davidson, L. D. (2001). Foundations of Child Well-being. Unpublished manuscript, Paris.
- [250] Pollard, E. L., & Lee, P. D. (2003). Child Well-being: A Systematic Review of the Literature. Social Indicators Research, 61(1), 59-78.
- [251] Porwal, K., & Kumar, R. (2014). A study of academic stress among senior secondary students. The International Journal of Indian Psychology, 1(3), 133-137.
- [252] Prabu Suresh P (2015). A study on academic stress among higher secondary stress, International Journal of Humanities and Social Science Invention, 4(10), 63-68
- [253] Price, B. J. 2009. Differentiating future time perspective and future anxiety as distinct predictors of intimate partner violence. Northern Illinois University
- [254] Pulido- Acosta, F.; Herrera- Clavero, F. (2018) Relaciones entre rendimiento e inteligencia emocional en secundaria. Tend. Pedagogicas., 31, 31-165-186. [CrossRef]
- [255] Putwain, D. (2007). Researching academic stress and anxiety in students: Some methodological considerations. British Educational Research Journal, 33(2), 207 219.
- [256] Pyhältö, K., Soini, T., and Pietarinen, J. (2010). Pupils' pedagogical well-being in comprehensive school—significant positive and negative school experiences of Finnish ninth graders. *Euro. J. Psychol. Educ.* 25, 207–221.
- [257] Quinto- Medrano, P.; Roig-Vila, R. (2015) Estudio de la inteligencia emocional en alumnus de enseñanza secundaria: Influencia del sexo y del nivel educativo de los estudiantes y su relacion con el rendimiento academic.Int. Stud. Law Educ., 21, 27-38.
- [258] Radcliff, C. and Lester, H. (2003). Undergraduate medical Education. Perceived Stress during undergraduate medical training, A qualitative study. Medical Education, 37(1), 32-38
- [259] Rajkotwala, J. (2016). Raising A Child. Not A Girl or A Boy. Sheroes. Retrieved from https://sheroes.com/articles/raising-a-child-not-a-girl-or-a-boy/MTY4OQ.
- [260] Ramli, N. H., Alavi, M., Mehrinezhad, S. A., & Ahmadi, A. (2018). Academic stress and self-regulation among university students in Malaysia: Mediator role of mindfulness. Behavioral Sciences, 8(1), 12.
- [261] Ramsay, J. E., Tong, E. M., Chowdhury, A., & Ho, M. H. R. (2019). Teleological explanation and positive emotion serially mediate the effect of religion on well-being. Journal of personality, 87(3), 676-689.
- [262] Reddy, K. J., Menon, K. R., & Thattil, A. (2018). Academic Stress and its Sources Among University Students. Biomedical and Pharmacology Journal, 11(1), 531-537
- [263] Rey, L.; Extremera, N.; Trillo, L.(2013) Exploring the Relationship between Emotional Intelligence and Health-Related Quality of Life in Patients with Cancer. J. Psychosoc.Oncol. 31, 51-64. [CrossRef]
- [264] Richardson M, Cormark A, McRobert L, Underhill R. (2016) 30 days wild: Development and evaluation of a large-scale nature campaign to improve well-being. PLoS One.;11(2)
- [265] Rickwood, D., Boyle, R., Spears, B., & Scott, C. (2002). The expanding school agenda, Directions in Education.
- [266] Ridner SL, Newton KS, Staten RR, Crawford TN, Hall LA. (2016) Predictors of well-being among college students. J Am Coll Heal.; 64(2): 116-1124.
- [267] Roberts, P. (2002). Teaching social competency: the next step in enhancing student wellbeing, Teacher Learning Network
- [268] Rogers, A.A., Ha, T., & Ockey, S. (2021). Adolescents' perceived socio-emotional impact of COVID 19 and implications for mental health: Results from a U.S. based mied methods study. Journal of Adolescent Health, 68(1), 43-52.
- [269] Roscoe, L.J. (2009). Wellness: A review of theory and measurement for counsellors. *Journal of Counselling & Development.* 87 (2), 216-226.
- [270] Rovers, M, & Kocum, L. (2010). Development of a holistic model of spirituality. Journal of Spirituality in Mental Health, 12(1), 2–24. https://doi.org/10.1080/19349630903495475

- [271] Russell, D., & Pang, Y. (2016). Loneliness. In V. Zeigler-Hill & T. Shackelford (Eds.), *Encyclopedia of personality and individual differences*. New York: Springer. https://doi.org/10.1007/978-3-319-28099-8.
- [272] Ryan, R. M., & Deci, E. L. (2001). On happiness and human potentials: A review of research on hedonic and eudemonic well-being. Annual Review of Psychology, 52(141-166).
- [273] Salmon P.(2001) Effects of physical exercise on anxiety, depression, and sensitivity to stress: A unifying theory. Clin Psychol.Rev.; 21(1): 33-61.
- [274] Sarita, S. (2015). Academic stress among students: role and responsibilities of parents.
- [275] International Journal of Applied Research, 1(10), 385-388.
- [276] Shek, D. (2012). Spirituality as a positive youth development constructs: A conceptual review. The Scientific World Journal. 2012. 458953. https://doi.org/10.1100/2012/458953
- [277] Schwarzer, R., & Knoll, N. (2003). Positive Coping: Mastering Demands and Searching for Meaning. In S. J. Lopez & C. R. Snyder (Eds.), Positive Psychological Assessment A Handbook of Models and Measures. Washington: DC: American Psychological Association.
- [278] Scoffham, S. & Barnes, J. (2011) Happiness matters: towards a pedagogy of happiness and wellbeing. *Curriculum Journal*, 22 (4), 535-548. doi: 10.1080/09585176.2011.627214.
- [279] Scott, S.R., Rivera, K.M., Rushing, E., Manczak, E.M., Rozek, C. S., & Doom, J.R.(2021). "I Hate This": A qualitative analysis of adolescents' self-reported challenges during the COVID-19 pandemic. Journal of Adolescent Health, 68(2), 262-269.
- [280] Seligman, M., & Csikszentmihalyi, M. (2000). Positive psychology: An introduction. *American Psychologist.*, 55(1), 5–14. https://doi.org/10.1037/0003-066X.55.1.5.10.1111/j.1464-0597.2008.00351.x Google Scholar
- [281] <u>Serrano, C.; Andreu, Y. Inteligencia emocional percibida, bienestar subjective, estres percibido, engagement y rendimiento academic en adolescentes. Rev. Psicodidactica, 21, 357-374. [CrossRef]</u>
- [282] Shah, H., & Marks, N. (2004). A well-being manifesto for a flourishing society. London, UK: The New Economics Foundation.
- [283] Sharma,B. Kumar,A. and Sarin,J. (2016). Academic Stress, Anxiety, Remedial Measures Adopted and Its Satisfaction among Medical Student, A Systematic Review, International Journal of Health Sciences and Research, 6(7), 368-376
- [284] Short, K. (1996). Material and Financial Hardship and Alternative Poverty Measures. Paper presented at the 163rd Annual Meeting of the American Statistical Association, San Francisco.
- [285] Sigleman, M. (2011). Flourish: A visionary new understanding of happiness and wellbeing. New York, NY: Free Press.
- [286] Smith, D. C. (2003). Problem Solving as and Element of Developmental Well-Being. In M. H. Bornstein, L. D. Davidson, C. L. M. Keyes & K. A. Moore (Eds.), Well-Being Positive Development Across the Life Course. Mahawah: Lawrence ErlBaum Associates
- [287] Solomon, D., Watson, M., Battistich, V., Schaps, E., & Delucchi, K. (1992). Creating a caring community: Educational practices that promote children's prosocial development. In F. K. Oser, Dick, A., & Patry, J.-L. (Ed.), Effective and responsible teaching: The new synthesis (pp. 383-396). San Francisco: JosseyBass.
- [288] Son, C., Hegde, S., Smith, A., Wang, X., & Sasangohar, F. (2020). Effects of COVID-19 on college students' mental health in the United States: Interview survey study. Journal of Medical Internet Research, 22(9), e21279. https://doi.org/10.2196/21279
- [289] Spencer, R.A.; Rehman, L.; Kirk, S.F.(2015)Understanding gender norms, nutrition, and physical activity in adolescent girls: A scoping review. Int.J. Behav. Nutr. Phys. Act. 12,6. [CrossRef] [PubMed]
- [290] Sroufe, L. A. (2002). From infant attachment to adolescent autonomy: Longitudinal data on the role of parents in development. In J. Borkowski, S. Ramey, & M. Bristol-Power (Eds.), Parenting and your child's world (pp. 187–202). Hillsdale, NJ: Erlbaum
- [291] Statham, J. and E. Chase (2010), "Childhood wellbeing: A brief overview", Loughborough: Childhood Wellbeing Research Centre, www.researchgate.net/profile/June_Statham/publication/242676811 _Childhood_Wellbeing_A_brief_overview/links/549bd87c0 cf2b80371372fc7.pdf.
- [292] Stranges S, Samaraweera PC, Taggart F, Kandala NB, Stewart- Brown S. (2014) Major health-related behaviours and mental well-being in the general population: The health survey for England, BMJ Open. ;4(9).
- [293] Stevenson, A., & Harper, S. (2006). Workplace stress and the student learning experience. Quality Assurance in Education
- [294] Subramani, C. and Kadhiravan, S. (2017). Academic Stress and Mental Health among High School Students, Indian Journal of Applied Research, 7(5)
- [295] Suldo, S. M., and Huebner, E. S. (2004). Does life satisfaction moderate the effects of stressful life events on psychopathological behaviour during adolescence? *Sch. Psychol. Q.* 19, 93–105. Google Scholar

- [296] Tanihata, T.; Kanda, H.; Osaki, Y.; Ohida, T.; Minowa, M.; Wada, K.; Suzuki, K.; Hayashi, K. (2015) Unhealthy lifestyle, poor mental health, and its correlation among adolescents: A nationwide cross-sectional survey. Asia Pac.J. Public Health, 27, NP1557-NP1565.[CrossRef] [PubMed]
- [297] Tasmania. (2000). Paper presented at the In 'World-class curriculum 2000: Curriculum Corporation seventh national conference: conference papers' pages 91-98. Carlton South Vic: Curriculum Corporation (Australia) 2000.
- [298] Toscano-Hermoso, M. D., Ruiz-Frutos, C., Fagundo-Rivera, J., Gómez-Salgado, J., García-Iglesias, J. J., & Romero-Martín, M. (2020). Emotional Intelligence and Its Relationship with Emotional Well-Being and Academic Performance: The Vision of High School Students. *Children (Basel, Switzerland)*, 7(12), 310. https://doi.org/10.3390/children7120310
- [299] Toquero, C. M. (2020). Challenges and opportunities for higher education amid the COVID-19 pandemic: The Philippine context. Pedagogical Research, (2020(4), 2468–4929. https://doi.org/10.29333/pr/7947
- [300] Tsang, J.-A., & McCullough, M. E. (2003). Measuring Religious Constructs: A Hierarchical Approach to Construct Organisation and Scale Selection. In G. R. Lopez & C. R. Snyder (Eds.), Positive Psychological Assessment A Handbook of Models and Measures. Washington DC: American Psychological Association.
- [301] UNESCO (2020e). School closures caused by Coronavirus (Covid-19). https://en.unesco.org/covid19/educationresponse
- [302] Vaillant, G. (2012). Positive mental health: is there a cross-cultural definition? *WorldPsychiatry* 11, 93–99. doi: 10.1016/j.wpsyc.2012. <u>Google Scholar</u>
- [303] Wang, M-T., & Eccles, J.S. (2012). Social support matters: Longitudinal effects of social support on three dimensions of school engagement from middle to high school. Child Development, 83(3), 877-895.
- [304] Wentzel, K.R., Battle, A., Russell, S.L., & Looney, L.B. (2010). Social supports from teachers and peers as predictors of academic and social motivation. Contemporary Educational Psychology, 35(3), 193-202.
- [305] Yarcheski, A., Mahon, N. E., & Yarcheski, T. J. (2001). Social support and well-being in early adolescents: The role of mediating variables. Clinical Nursing Research, 10(2), 163-181.
- [306] Yeager, D. S., & Dweck, C. (2012). Mindsets that promote resilience: When students believe that personal characteristics can be developed. *Educational Psychologist*, 47, 302–314. https://doi.org/10.1080/00461520.2012.722805
- [307] Yildiz, I.; Yildirim, F.(2012) The relation between problematic internet use and healthy lifestyle behaviours in high school students. Adv.Sch. Ment. Health Promot. 5, 93-104 [CrossRef]
- [308] Vari, R.; Scazzochio, B.; D` Amore, A.; Giovannini, C.; Gessani, S.; Masella, R. (2016) Gender-related differences in lifestyle may affect health status. Ann. Ist. Super Sanita, 52, 158-166.
- [309] Vermunt, R., & Steensma, H. (2005). How Can Justice Be Used to Manage Stress in Organizations? In J. Greenberg & J. A. Colquitt (Eds.), *Handbook of organizational justice* (pp. 383–410). Hillsdale: Lawrence Erlbaum Associates Publishers.
- [310] Vishkin, A., Bigman, Y. E., Porat, R., Solak, N., Halperin, E., & Tamir, M. (2016). God rest our hearts: Religiosity and cognitive reappraisal. Emotion, 16(2), 252
- [311] Wang, C., Pan, R., Wan, X., Tan, Y., Xu, L., Ho, C., & Ho, R. (2020). Immediate psychological responses and associated factors during the initial stage of the 2019 coronavirus Disease (COVID-19). Epidemic among the General Population in China. *International Journal of Environmental Research and Public Health*, 17, 1729. https://doi.org/10.3390/ijerph17051729.
- [312] Watson, D., Emery, C., Bayliss, P., Boushel, M. & McInnes, K. (2012). *Children's social and emotional wellbeing in schools: A critical perspective*. Bristol, UK: The Policy press.
- [313] Wentworth, N., & Witryol, S. L. (2003). Curiosity, Exploration and Novelty Seeking. In M. H. Bornstein, L. D. Davidson, C. L. M. Keyes & K. A. Moore (Eds.), Well-Being Positive Development Across the Life Course. Mahwah: Lawrence Erlbaum and Associates.
- [314] Whatman, S. (2000). Youth wellness and Torres Strait Islander girls: challenges facing teachers in the Torres Strait. ACHPER Healthy Lifestyles Journal, 47(3/4), 5-9.
- [315] World Health Organisation {WHO}. (2007). The international classification of functioning, disability and health children and youth (ICF-CY). World Health Organization, Geneva.
- [316] Witmer, J. M., & Sweeney, T. J. (1998). Toward wellness: The goal of counseling. In T. J. Sweeney (Ed.), Adlerian counseling: A practitioner's approach (pp. 43-99). Philadelphia: Accelerated Development: Taylor & Francis Group.
- [317] Wyn, J., Cahill, H., Holdsworth, R., Rowling, L., & Carson, S. (2000). Mindmatters, a whole-school approach to promoting mental health and wellbeing. Youth Suicide Prevention Bulletin

- [318] Yoon, D. P., & Lee, E. K. O. (2004). Religiousness/ spirituality and subjective well-being among rural elderly Whites, African Americans, and Native Americans. Journal of Human Behavior in the Social Environment, 10(1), 191-211.
- [319] Zaff, J. F., & Hair, E. C. (2003). Positive Development of the Self: Self-Concept, Self Esteem and Identity. In M. H. Bornstein, L. D. Davidson, C. L. M. Keyes & K. A. Moore (Eds.), Well-Being Positive Development Across the Life Course. Mahwah: Lawrence Erlbaum Associates.
- [320] Zhang, Y., & Ma, Z. (2020). Impact of the COVID-19 pandemic on mental health and quality of life among local residents in Liaoning province, China: A cross-